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In the context of physical development, children acquire
to use

gross motor skills; fine muscles
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(3) language; analytical reasoning
(4)

tine motor skills; gross muscles

analytical reasoning; language
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Options:-

«1, Option ID :- 1,
» 2, Option ID :- 2,
»« 3, Option ID :- 3,

« 4, Option ID :- 4,
Answer Given:- 2, Option ID : -2
Correct Answer :- 1 Option ID :- 1

before achieving the capacity
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Question ID:- 2

Contemporary theories of child development view children as :
(1) blank slate who can be totally molded as per the environment.

development.

(2) active purposeful beings who contribute substantially to their own development.
(3) having an innate plan for orderly growth that cannot be changed.
(4) genetically programmed beings who cannot do anything to alter their own course of
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Options:-

«1, Option ID :- 5,
» 2, Option ID :- 6,
» 3, Option ID :- 7,

« 4, Option ID :- 8,
Answer Given:- 2, Option ID : -6
Correct Answer :- 2 Option ID :- 6

Question ID:- 3

Which of the following statement is correct in the context of development ?
(1) Development depends only on environmental factors.
2) Development depends only on the heredity factors.

(
(
(

)
3) Development is a temporary change of short duration.
4) Development continues in a holistic and systematic manner.
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Options:-

«1, Option ID :- 9,

» 2, Option ID :- 10,
» 3, Option ID :- 11,

» 4, Option ID :- 12,
Answer Given:- 4, OptionID : -12
Correct Answer :- 4 Option ID :- 12

Question ID:- 4

The ability to form and use symbols is a major accomplishment of
(1) sensori motor stage

(2) pre-operational stage

(3) concrete operational stage
(4)

4) formal operational stage




geitehl o AT UE YR H H A T TG 3Tl © |
(1) Godt Tefy syeren

(2) Yd HfsHaTcHS STaE
(3) o HfsHATeTH e
(4) A HEsRATCHS ST
Options:-

«1, Option ID :- 13,
» 2, Option ID :- 14,
» 3, Option ID :- 15,

« 4, Option ID :- 16,
Answer Given:- 2, Option ID : -14
Correct Answer :- 2 Option ID :- 14

Question ID:- 5

In Piaget’s theory, what process describes an infant’s action when she changes the way she holds
her hand as she reaches for round objects as oppossed to square ones ?

(1) Accommodation

(2) Conditioning
(3) Inter-subjectivity
(4) Schemas
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Options:-

«1, Option ID :- 17,
» 2, Option ID :- 18,
« 3, Option ID :- 19,

« 4, Option ID :- 20,
Answer Given:- 3, Option ID : -19
Correct Answer :- 1 Option ID :- 17

Question ID:- 6

According to Lawrence Kohlberg, at which stage does satisfaction of personal needs determines
moral choice ?

(1) Instrumental purpose orientation

) Punishment and obedience orientation
) Universal ethical principles orientation
)
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Good boy-good girl orientation
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Options:-

«1, Option ID :- 21,

» 2, Option ID :- 22,

« 3, Option ID :- 23,

» 4, Option ID :- 24,
Answer Given:- 3, Option ID : -23
Correct Answer :- 1 Option ID :- 21

Question ID:- 7

Lev Vygotsky proposed that children should be provided to facilitate learning.
(1) mnegative feedback

(2) rewards
(3) scaffolding
(4) positive reinforcement
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Options:-

«1, Option ID :- 25,

» 2, Option ID :- 26,

» 3, Option ID :- 27,

« 4, Option ID :- 28,
Answer Given:- 3, Option ID : -27
Correct Answer :- 3 Option ID :- 27

Question ID:- 8

Lev Vygotsky proposed that thinking :
(1) 1is co-constructed during shared activities between the child and another person.

(2) takes place outside of the child’s context.
(3) happens when stimulus and responses get paired together.
(4) is notrelated to development of language.
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Options:-

«1, Option ID :- 29,

« 2, Option ID :- 30,

» 3, Option ID :- 31,

» 4, Option ID :- 32,
Answer Given:- 1, Option ID : -29
Correct Answer :- 1 Option ID :- 29

Question ID:- 9

Ina classroom the child is an active participant in the learning process and learns as
per her own pace, needs and capacities.

(1) progressive

(2) teacher-centered
(3) behaviouristic
(4) textbook-centric
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Options:-

«1, Option ID :- 33,
» 2, Option ID :- 34,
« 3, Option ID :- 35,

« 4, Option ID :- 36,
Answer Given:- 1, Option ID : -33
Correct Answer :- 1 Option ID :- 33

Question ID:- 10

According to the theory of ‘Multiple Intelligence” every individual has :
(1) a setof general abilities.

a fixed IQ determined at the time of birth.

)  different cognitive abilities in different amounts.

) five types of cognitive abilities.
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Options:-

«1, Option ID :- 37,
» 2, Option ID :- 38,
« 3, Option ID :- 39,

« 4, Option ID :- 40,
Answer Given:- 3, Option ID : -39
Correct Answer :- 3 Option ID :- 39

Question ID:- 11

Children’s “private speech’ play an important role in cognitive development because it helps in
guiding & regulating self thinking. This concept is supported by :
(1) Noam Chomsky

(2) Jean Piaget
(3) Jerome Bruner
(4) Lev Vygotsky
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Options:-

«1, Option ID :- 41,
»« 2, Option ID :- 42,
« 3, Option ID :- 43,

» 4, Option ID :- 44,
Answer Given:- 4, Option ID : -44
Correct Answer :- 4 Option ID :- 44

Question ID:- 12

The following is an effective strategy in reducing children’s gender-stereotyping and gender-role
conformity :
(1) Gender-segregated seating arrangement.

(2) Focusing upon gender specific roles.
(3) Gender-segregated play groups.
(4) Discussion about gender biases.
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Options:-

«1, Option ID :- 45,

» 2, Option ID :- 46,

»« 3, Option ID :- 47,

» 4, Option ID :- 48,
Answer Given:- 4, Option ID : -48
Correct Answer :- 4 Option ID :- 48

Question ID:- 13

In order to make teaching and learning effective for every child, the teachers should :

(1) use multiple strategies to engage children.

(2) ignore and disregard individual differences.
(3) be absolutely rigid in her assessment methods.
(4) Follow uniform and structured curriculum.
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Options:-

«1, Option ID :- 49,

» 2, Option ID :- 50,

» 3, Option ID :- 51,

« 4, Option ID :- 52,
Answer Given:- 1, Option ID : -49
Correct Answer :- 1 Option ID :- 49
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Question ID:- 14

Assertion (A) : In a socio-constructivist classroom recall based written tests should be the
only basis of assessment.

Reason (R) : Children learn most effectively by rote memorisation.
Choose the correct option :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3)  (A) is true but (R) is false.
(4) Both (A) and (R) are false.
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Options:-

»1, Option ID :- 53,
« 2, Option ID :- 54,
» 3, Option ID :- 55,

« 4, Option ID :- 56,
Answer Given:- 4, Option ID : -56
Correct Answer :- 4 Option ID :- 56

Question ID:- 15

Assertion (A) : Inclusive education refers to an education system that accommodates all
children regardless of their physical, intellectual, social, emotional, linguistic
or other conditions.

Reason (R) : Inclusion is not confined to the ‘disabled” but is a broader term.

Choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A) is true but (R) is false.
(4) Both (A) and (R) are false.
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Options:-

»1, Option ID :- 57,

» 2, Option ID :- 58,

» 3, Option ID :- 59,

» 4, Option ID :- 60,
Answer Given:- 1, Option ID : -57
Correct Answer :- 1 Option ID :- 57




Question ID:- 16

In an elementary classroom, how should teacher view diversity ?

(1) As a barrier to learning

(2) Ignore diversity

(3) Minimize diversity and promote standardised curriculum
(4) As an asset since it promotes heterogeneity
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Options:-

«1, Option ID :- 61,
» 2, Option ID :- 62,
» 3, Option ID :- 63,

« 4, Option ID :- 64,
Answer Given:- 4, Option ID : -64
Correct Answer :- 4 Option ID :- 64

Question ID:- 17

Karthik a fifth standard child has persistent difficulty in verbal and non-verbal communication
with his friends and teachers. These could be primary characteristics of :

(1) Dysgraphia

(2) Dyscalculia
(3) Autism
(4) Dyslexia
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Options:-

«1, Option ID :- 65,
» 2, Option ID :- 66,
« 3, Option ID :- 67,

« 4, Option ID :- 68,
Answer Given:- 3, Option ID : -67
Correct Answer :- 3 Option ID :- 67




Question ID:- 18

Which of the following are effective accommodations in the classroom environment as per the

needs of students with visual challenge ?
i)  Eliminate unnecessary obstacles from classroom
ii) Use a variety of visual presentations
iii) Give a lot of handouts having mind-maps
) Provide recorded materials to supplement classroom teaching
(1), (iv)
(1), (iii), (iv)
(i), (iv)
(1)

i), (i), (i), (iv)

e & & %A @ foremamrstg grase v gfteanfia farne @) sl & SER ST JHESE § 2

(i) e H ISR sl A g2

(i) fafo= ger =1 gfas gegfasor &)

(i) =gd | fomfid wsier <1 e Heheqmrcaes feom 2l |

(iv) hame Afermy = gifere s & T sifyfafea ame <
(1) (i), (iv)

(2) (i), (i), (iv)

(3) (i) ()

(4) (i), (i), (i), (iv)
Options:-

«1, Option ID :- 69,
»« 2, Option ID :- 70,
« 3, Option ID :- 71,

» 4, Option ID :- 72,
Answer Given:- 3, Option ID : -71
Correct Answer :- 3 Option ID :- 71

Question ID:- 19

An identifying characteristic of creativity is :

(1) Divergent thinking - the ability to propose many different ideas or answers

(2) Convergent thinking - the ability to focus on one answer

(3) Ability of passive imitation
)

(4) Skill to rote memorise long passages
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Options:-

«1, Option ID :- 73,
» 2, Option ID :- 74,
« 3, Option ID :- 75,

» 4, Option ID :- 76,
Answer Given:- 1, Option ID : -73
Correct Answer :- 1 Option ID :- 73

Question ID:- 20

If a teacher wants to assess creativity of students, she should avoid :
(1) focusing on process rather than product.

(2) comparing the students with each other.
(3) comparing the students with their previous performance.
(4) giving opportunity for self assessment.
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Options:-

«1, Option ID :- 77,

» 2, Option ID :- 78,

« 3, Option ID :- 79,

« 4, Option ID :- 80,
Answer Given:- 2, Option ID : -78
Correct Answer :- 2 Option ID :- 78

Question ID:- 21

Learning :

(1) 1isa passive process.

(2) is influenced by personal factors.

(3) occurs independent of socio-cultural context.
(4)

4)  is a process of only recall and reproduction of information.
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«1, Option ID :- 81,
» 2, Option ID :- 82,
»« 3, Option ID :- 83,

« 4, Option ID :- 84,
Answer Given:- 3, Option ID : -83
Correct Answer :- 2 Option ID :- 82

Question ID:- 22

Students with which of the following belief will be encouraged to learn and have a better
performance in class ?

(1) One cannot change one’s inborn abilities at all.

(2) Effort can influence one’s learning and performance.
(3) Getting good marks is a matter of luck.
(4)

4)  One who has not succeeded previously, will not succeed in future as well.
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Options:-

«1, Option ID :- 85,
« 2, Option ID :- 86,
» 3, Option ID :- 87,

« 4, Option ID :- 88,
Answer Given:- 2, Option ID : -86
Correct Answer :- 2 Option ID :- 86

Question ID:- 23

Teachers can encourage students to become mastery-oriented learners by :
(1) overemphasising scoring high marks.

2) encouraging children to win all competitions.

(2)
(3) inculcating love and joy in the process of learning.
(4)

inculcating fear and stress to avoid failure.
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«1, Option ID :- 89,
» 2, Option ID :- 90,
« 3, Option ID :- 91,

« 4, Option ID :- 92,
Answer Given:- 2, Option ID : -90
Correct Answer :- 3 Option ID :- 91

Question ID:- 24

Which of the following strategies will help students to learn meaningfully ?

(1)
2)
5)
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(4
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Relating the knowledge with their everyday life.

Focussing only on teaching for students to get good marks.

Stressing on repetitive drill and practice.

Remembering lots of information at the same time.
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Options:-

«1, Option ID :- 93,

»« 2, Option ID :- 94,
« 3, Option ID :- 95,

» 4, Option ID :- 96,
Answer Given:- 1, Option ID : -93
Correct Answer :- 1 Option ID :- 93

Question ID:- 25

In a socio=constructivist classroom, learning promotes :
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metacognitive abilities
self-regulation

critical thinking
problem-solving

meaningless drill and rehearsal

(i), (iv)
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(4) (i), (i), (i), (@iv), (v)

Options:-

«1, Option ID :- 97,
» 2, Option ID :- 98,
« 3, Option ID :- 99,

« 4, Option ID :- 100,
Answer Given:- 3, Option ID : -99
Correct Answer :- 3 Option ID :- 99

Question ID:- 26

Alternative conceptions of concepts among students :

(1) are indicative of the naive’ theories that students construct.
(2) should be discouraged through use of punishment.

(3) are meaningless in the process of learning,
(4)

4 should be ignored by the teacher while teaching.

fernfefi # e % Sepfeas Heaam ;

(1) fesnfefdi grn fem ‘west fasi ' =1 <t €1

(2) HST g gecdIed =i ST =fey |

(3) =aferTy @t yfma # 2190 )

(4) oo % SR frsrerl gRT Tmeiers 1 < =

Options:-

«1, Option ID :- 101,
» 2, Option ID :- 102,
« 3, Option ID :- 103,

» 4, Option ID :- 104,
Answer Given:- 1, Option ID : -101
Correct Answer :- 1 Option ID :- 101

Question ID:- 27




Children learn by :
experimentation and exploration
ii

N

listening and talking
iii) discussing and reflecting
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(1), (i), (iii), (iv)
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Options:-

«1, Option ID :- 105,
« 2, Option ID :- 106,
» 3, Option ID :- 107,

» 4, Option ID :- 108,
Answer Given:- 1, Option ID : -105
Correct Answer :- 1 Option ID :- 105
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Question ID:- 28

The most motivating and meaningful learning tasks for diverse students in a middle classroom are

those that are :
(1) not challenging at all.

(2) moderately challenging.
(3) extremely challenging.
(4) repetitive and boring.
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Options:-

«1, Option ID :- 109,
» 2, Option ID :- 110,
» 3, Option ID :- 111,

» 4, Option ID :- 112,
Answer Given:- 2, Option ID : -110
Correct Answer :- 2 Option ID :- 110

Question ID:- 29

For learning to be meaningful it should be associated with :
(1) discipline and distress.

(2) fear and punishment.

(3) enjoyment and satisfaction.

(4) achievement and competition.
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Options:-

«1, Option ID :- 113,
» 2, Option ID :- 114,
» 3, Option ID :- 115,

« 4, Option ID :- 116,
Answer Given:- 3, Option ID : -115
Correct Answer :- 3 Option ID :- 115

Question ID:- 30

Assertion (A) : A teacher gives a lot of project work and encourages children to work
collaboratively.

Reason (R) : Children learn a lot through discussion with peers.
Choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3)  (A) is true but (R) is false.

(4) Both (A) and (R) are false.
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Options:-

«1, Option ID :- 117,
» 2, Option ID :- 118,
« 3, Option ID :- 119,

« 4, Option ID :- 120,
Answer Given:- 1, Option ID : -117
Correct Answer :- 1 Option ID :- 117

Subject : SS_P2_CTET

Question ID:- 91
are grand, long compositions about heroic men and women, and include
stories about Gods.
(1) Historical texts
(2) Epics
(3) Narratives
(4) Bibliographies
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Options:-

«1, Option ID :- 361,
» 2, Option ID :- 362,
» 3, Option ID :- 363,

»« 4, Option ID :- 364,
Answer Given:- 1, Option ID : -361
Correct Answer :- 2 Option ID :- 362

Question ID:- 92




Consider the following statements :

Statement - I :

A new form of Buddhism developed during the rule of King Kanishka.
Statement - II :

Mahayana Buddhism had two distinct features; Buddha's presence was depicted through
signs and the belief in Bodhisattvas.

Options :

(1) Both (I) and (II) are true and (II) is linked to (I).

(2) (I) is false but (II) is true.

(3) Both (I) and (II) are true but (II) is not linked to (I).
(4)  (I) is true but (II) is false.

frefefad weml = faar =+ :

HIA - (1) :

Al 9H i T T U H [T ST T o6 (W) F q9F H g
HT- 11 :

drg o T T W A < g faieand off; g3 5 sttty fak $e gkl v St §
STET & HIeqH ¥ SIS S o |

fawea :

(1) wIT (1) 2R (1) <M wE € uE we (1), HEA (1) § FeAfed
(2) /AT (I) T TG HYA (I1) Tl

(3) HAT (1) AR () S T T O HYA (11), HYA () | Fafea 78 T
(4) YA (I) W&l & W HAT (1) T &

Options:-

«1, Option ID :- 365,

» 2, Option ID :- 366,

« 3, Option ID :- 367,

=« 4, Option ID :- 368,

Answer Given:- 1, Option ID : -365
Correct Answer :- 4 Option ID :- 368

Question ID:- 93




Consider the following statements :

Statement -1 :

The best known of the rulers who controlled the silk route were the Kushanas.
Statement - 1I :

Kushanas ruled over Central Asia and North West India and were earliest rulers to issue
gold coins which were used by traders.

Options :

(1) Both (I) and (II) are true but (II) is not correct explanation of (I).
(2)  (I) is true but (II) is false.

(3) Both (I) and (II) are true and (II) is correct explanation of (I).
(4) (1) is false but (II) is true.

frefefad weml = faar =+ :

HI (1) :

e w2 W e wEs gt IEs § 999 9ies Fem 9)
HIA (I0) :

FUTON 7 TE-UPE a2 YEHR MRd W 9meH {6 vd 2 wed 9ed 9 & fawn 9w 9
TG & ToTeRT S9ArT =i 3 fan)

farerea
(1) /T (1) SR (1) ST Tt € g /o= (1), H9 (1) 1 T =0 T8 ¢

(2) HUA (I) T & T5g ®wET (I1) T &

(3) AT (I) 3R (1) ST &t § a9 weA (10), HAT (1) it HE A=A T
(4) YA (I) T ¢ TR HEA (11) FET T

Options:-

«1, Option ID :- 369,
» 2, Option ID :- 370,
» 3, Option ID :- 371,

« 4, Option ID :- 372,
Answer Given:- 1, Option ID : -369
Correct Answer :- 3 Option ID :- 371

Question ID:- 94




Consider the following statements on kings.

Statement - I :

Kings in every dynasty wanted to emphasise it their moral right to be rulers.
Statement - II :

Kings constructed places of worship to proclaim their close relationship to God.
Options :

(1) Statement (I) is true but (II) is false.

( Both statements (I) and (II) are true and (I) is an explanation for (II).

(3) Statement (I) is false but (II) is true.

(4) Both statements (I) and (II) are true but (I) is not an explanation for (II).

Trfafiad weml o Tensll & 2maR W fa=mr &l

wA (1) :

ek TSagl & TSl & 81 o 8794 ifaeh SATHR W ael o1 =Jed 9|
HUA 11

SYER o WY 319 TS HaY i ITEWIN A o forg wsned A suren & i w fator fean
faerea :

(1) YA (1) & & 9 (1) Terd 2

(2) YR (1) ST (1) T FEE, T4 (1), (I0) T =

(3) /YA (I) TeTd T UG (1) T 7|

(4) =T (1) 3= (1) SH w2, 9= (1), (1) 1 = 76 3
Options:-

«1, Option ID :- 373,

« 2, Option ID :- 374,

» 3, Option ID :- 375,

» 4, Option ID :- 376,

Answer Given:- 2, Option ID : -374
Correct Answer :- 2 Option ID :- 374

Question ID:- 95

Match the places and/or communities to their crafts.

(A) Bidar (I) Iron work

(B) Surat () Weaving

(C) Panchalas (IIT) Textile with gold lace borders
(D) Saliyar (IV) Inlay work in silver and copper
Options :

(D) (A)-av), B)-(1), (C)-(I), (D)-(IT)

(2)  (A)-IV), B)-(I), (©)-(T). (D)-(I)

(3)  (A)-[0), (B)-(I), (©)-1V), (D)-(II)

(4)  (A)-(IV), B)-IID), (C)-(T), (D)-(IT)




STTEl ST/ ST WHEE 1 Sk FIeq-shell & WY gHe Hife ;

(A) =ie () 8 - Fafud swE/EER
(B) T (W =
(C) d=EE (IIT) FAeL Tier-feranfe (&) aret o
(D) wife™r (IV) e qen =it o S =1 &M
farerea

A)- 1

Options:-

«1, Option ID :- 377,
» 2, Option ID :- 378,
« 3, Option ID :- 379,

« 4, Option ID :- 380,
Answer Given:- 4, Option ID : -380
Correct Answer :- 4 Option ID :- 380

Question ID:- 96

Consider the following statements :

Statement - I :

In his inscriptions Ashoka suggested that rituals are not useful.
Statement - II :

People in Mauryan empire followed different religions and this sometimes led to conflict

and animal sacrifice.

Options :

(1) 1is false and II is true.

(2) Ilis false and I is true.

(3) Both I and II are true but Il is not a cause for L
(4) Both I and II are true and 1I is a cause of L




TrefafEg oAl W) a9 #: :

HAA - (1) :

9 A 9 Afverdl § 7w goa e f Frenis R % % =8 81
HUA - 11 ;

0§91 & "weA § Ar fafis o1l @1 e 3 9 991 98 wi-el faae @ 9y afa 9%
T ST o |

faerea
(1) (1) 7o € ud (11) 98 2 |

(2) (1) 7TeTd € wE (1) TR 2

(3) (1) 37X (1) W& € o (1), (1) & o w72
(4) (1) 3 (1) S wE € @ (), (1) R
Options:-

»1, Option ID :- 381,
« 2, Option ID :- 382,
« 3, Option ID :- 383,

» 4, Option ID :- 384,
Answer Given:- 4, Option ID : -384
Correct Answer :- 4 Option ID :- 384

Question ID:- 97

Match the term with its corresponding role in the villages in North India.

(A) Grama Bhojaka () Work on other’s fields

(B) Grihapati (IT)

(C) Dasa Karmakara (IlI) Independent farmers
(IV) Village headman

Craftspersons

Options :
(1) (A)- V) (B)-(T), (©)-(D)
(2)  (A)-), B)-(), (O)-0)
3 @) UV) (B)-(11), (C)-(I)
(4)  (A)-), (B)-IV), (O)-(0)




Freferfaa wsal o1 3T A & TMar § ST e i % T e S

(A) U™ ISR ()  THU =i SFHH 9T HH FH &
(B) Tedfd (I) Teregesri
(C) = HHHR (I) ¥&ds Fuh
(IV) -5 (I 9E)
faeea -
(1) (A)-IV), (B)-(II1), (O)-(T)
(2)  (A)-1), (B)-II), (O)-1)
(3)  (A)-IV), (B)-1I), (O)-(T)
(4)  (A)-D), (B)-(IV), (O-(I)
Options:-

«1, Option ID :- 385,
« 2, Option ID :- 386,
« 3, Option ID :- 387,

» 4, Option ID :- 388,
Answer Given:- 1, Option ID : -385
Correct Answer :- 1 Option ID :- 385

Question ID:- 98

Consider the follo'm'ng statements A and B :
Statement A :

The Ryotwari system of revenues built a direct relationship with the cultivators and tillers.
Statement B :

The Ryotwari system emphasised the extraction of revenue through the village headman.
Choose the correct option:

(1) (A)is true, (B) is false.

( (A) is false, (B) is true.

(3) Both (A) and (B) are true.

(4) Both (A) and (B) are false.

frfafad wem - (A) @R (B) W fa=m #ifaw

HUF - (A) : TS i Faarl sae | oA (W) iR @iqet el o d@ig g qa9y
Torrfe feam

HYA - (B) : TIGAN SHEe A U Y@ % HIeAH 9 TSd i e W ae fem
&l fashed 1 999 il :

(1) (A) =& 7, (B)Tod B

(2) (A) 7o 2, (B) TEl ® |

(3) (A) 3R (B) & wet F

(4) (A) 3R (B) THi Tad B

Options:-




«1, Option ID :- 389,
» 2, Option ID :- 390,
»« 3, Option ID :- 391,

« 4, Option ID :- 392,
Answer Given:- 3, Option ID : -391
Correct Answer :- 1 Option ID :- 389

Question ID:- 99

Match the following social reformers with their work.

(A) Jyoti Rao Phule (I)  started schools for girls in Patna and Calcutta.
(B) Begum Rokeya Sakhawat (II) founded widow’s home in Poona.

(C) Tarabai Shinde (IlT) opened schools for girls in Maharashtra.

(D) Pandita Ramabai (IV) wrote “Stripurushtulna”.

Options :

(1) (A)Q), (B-IV), (O-(11), (D)-(IL])

(2) (A, (B)-(), (O-1IV), (D)-(I)

() (A1), B)-), ©)-(1), (D}-IV)

(4)  (A)-IV), (B)-(1D), (C)-(II), (D)-(I)

frefafad amfses gurel 1 376 1+ 919 Yo FIfE

(A) fad F () 91 3R serhdl H asfndl o fore e @id |
(B) =TH ®ohAl HEET () T ¥ fayaEme 1 =g i)

() arrEE fie (M) werre § wrefrdl & fou whet @it

(D) dfed wET (IV) rgesger fow |

faerea -

(1) (A)-0), (B)-(IV), (O)-(II), (D)-(II)

(2 (A)-(), (B)-(0), (©)-(IV), (D)-(IT)

(3)  (A)-ID), (B)-(I), (C)-(I), (D)-(IV)

(4)  (A)-(V), (B)-(ID), (C)-(TI), (D)-I)

Options:-

«1, Option ID :- 393,
» 2, Option ID :- 394,
» 3, Option ID :- 395,

» 4, Option ID :- 396,
Answer Given:- 2, Option ID : -394
Correct Answer :- 2 Option ID :- 394

Question ID:- 100




If Ved Samaj condemned the superstitions of orthodox Hinduism, Prathana Samaj sought

removal of caste restrictions

(1)

(2) freedom of thought

(3) introduction of Western Science to Muslims
(4) permission for child marriage

SR 9% 9IS A Wigars! g & Aufavardi i e e &1 a1 weiq 6 9 PR
fepam

(1) < el % 39eA % fag

(2) fo=mi =1 T & fag

(3) HEeHM i ufveHT famm & aRfea w0 % fag
(4) @ foame = eAfa & fag
Options:-

«1, Option ID :- 397,
» 2, Option ID :- 398,
»« 3, Option ID :- 399,

« 4, Option ID :- 400,
Answer Given:- 2, Option ID : -398
Correct Answer :- 1 Option ID :- 397

Question ID:- 101

Which of the following statements is true in case of social reform and caste abolition ?
(A) Rammohun Roy wrote pamphlets written as a dialogue to spread his ideas.

(B) Singh Sabha leaders promoted modern education and Sikh teachings.

(C) Periyar’s teachings promoted the idea of equality through religion.

Choose the correct option.

(1) Only (A) and (B)

(2) Only (B) and ()

(3) Only (A) and (C)

(4) (A), (B) and (C)




frefafaa § 9 @ ¥ o g guR iR Sda s9ed & e o wd €72
(A) THEEA 9 9 o9 T & 99R & foae o= fod S dae & w9 H 9
(B) Tz | % wanedi 7 enyfes e oin fam fagml =1 dieama e
(C) UREm & g & wuar =1 fa=r ud o @iegm | grefed @ @
TEr foFeq &1 = H

(1) e (A) 3T (B)

(2) A (B) R (C)

(3) A (A) 3R ()

) (A), (B) ¥R (©

Options:-

«1, Option ID :- 401,

« 2, Option ID :- 402,

« 3, Option ID :- 403,

» 4, Option ID :- 404,
Answer Given:- 2, Option ID : -402
Correct Answer :- 1 Option ID :- 401

Question ID:- 102

Arrange the following statements from earliest to recent, to reflect the emergence of
Nationalism :

(A) Rise of consciousness that Indian people should be sovereign.
(B) Withdrawal of Ilbert Bill.

(C) Formation of Indian National Congress.

(D) Enactment of Vernacular Press Act.

() (©), (B), (A) and (D)
(2)  (B), (A), (D) and (C)
(3)  (A), (D), (B) and (C)
(4) (D) (©), (A) and (B)

IeZAETE % 354 1 wfdfatad w7 & fog frafafea 1wt § 99 %0 8 o -
(A) R ST R ey E A, T8 =aH S 8 |
(B) Teae fael =l aTqd &l

(1) (©), (B), (A) 3R (D)
@ (), (4) (D) =R Q)
(3) (A), (D), (B) 3R (O)
(4 (D), (©) (A) 3 (B)




Options:-

»1, Option ID :- 405,
» 2, Option ID :- 406,
« 3, Option ID :- 407,

» 4, Option ID :- 408,
Answer Given:- 4, Option ID : -408
Correct Answer :- 3 Option ID :- 407

Question ID:- 103

The moderate leaders of the National Movement

(1) felt British had no respect for the ideas of freedom when it came to Indians” just

demands.
(2) emphasized self reliance and constructive work.
(3) politics of prayers had failed.
(4) mobilised public opinion against the economic ruin of the country.
T SAiier & qEFEF Fae .
(1) = &Ta o1 o STt a1 o Sewl ol WO Td 81 hid S/ R ohl =a2ETd il

A S 2 |
(2) 7 AT q1 TATEE W T e
(3) =l THaeA =1 asiHIfa fawer @
(4) ¥ <v ! i qeEl o fawg S fmior foRan)

Options:-

«1, Option ID :- 409,
» 2, Option ID :- 410,
» 3, Option ID :- 411,

» 4, Option ID :- 412,
Answer Given:- 1, Option ID : -409
Correct Answer :- 4 Option ID :- 412

Question ID:- 104

Consider the following statements :

Statement - [ :

Second five year plan was formulated in 1954.
Statement - II :

Second five year plan focused on development of heavy industries under the control of
private players.

Options :

(1) Both (I) and (II) are true.

(2) Both (I) and (II) are false.

(3)  (I) is true but (II) is false.

(4) (I) is false but (II) is true.




Trefafad el 9 foam i

HUA - (1) :

1954 H gEI doE FSH GAR & T |
HA - (1) :

O Uy A § s e % e | an sw % famre w 9w e mm
faerea -

(1) (1) 3 (1) < g &

(2) (1) &R (11) <= T €

(3) (1) T& & U (II) T ©

(4) (1) 7o & IR (1) WE §
Options:-

«1, Option ID :- 413,

« 2, Option ID :- 414,

» 3, Option ID :- 415,

» 4, Option ID :- 416,
Answer Given:- 3, Option ID : -415
Correct Answer :- 2 Option ID :- 414

Question ID:- 105

Consider the following statements regarding Solar System.
(A) Inner planets are made of gases and liquids whereas outer planets are made of rocks.

(B) Outer planets are bigger in size as compared to inner planets and some of the outer
planets have rings around them.

Choose the correct option.
(I) Both (A) and (B) are true.

(2) Both (A) and (B) are false.
(3) (A) is true but (B) is false.
(4) (A) is false but (B) is true.

R "z % 9r § fou v frefated s = faem 5

(A) ARt e T o oe vl | 99 2 € S 9l e 9gEl | o1 i §

(B) aTel e ik el =i gl T oS TR & a1d & 3K 59 o1%1 76l % IR i} Do € |
wer fawed 74|

(1) (A) 3R (B) SFi W&l €|

(2) (A) 3R (B) SF TTad 2 |
(3) (A) 9e g AferA (B) Terd B |
(4) (A) e § @feR (B) WE 21
Options:-

«1, Option ID :- 417,
» 2, Option ID :- 418,




« 3, Option ID :- 419,

» 4, Option ID :- 420,
Answer Given:- 1, Option ID : -417
Correct Answer :- 4 Option ID :- 420

Question ID:- 106

Which of the following are Antarctic Substations of India ?

(A) Maitri

(B) Dakshin Gangotri
(C) Bharti

(D) Aditi

Options :

(1) (A) and (D) only.

(2) (B) and (C) only.
(3) (A), (B) and (C) only.
(4) (B), (C) and (D) only.

= o | i 9 sferhfes § IRG F GeaEeyH § 7
(A) I

(B)  =faor T

(C) TR

(D) sAfefa

feraney

(1) e (A) 3R (D)

(2) e (B) ¥R (C)

(3) e (A), (B) S (C)
(4) FEE (B), (C) ¥R (D)
Options:-

«1, Option ID :- 421,

» 2, Option ID :- 422,

« 3, Option ID :- 423,

» 4, Option ID :- 424,
Answer Given:- 3, Option ID : -423
Correct Answer :- 3 Option ID :- 423

Question ID:- 107

Tropic of Cancer, Equator and Tropic of Capricorn do not pass through which of the
following continent/s ?

(1) North America and Antarctica
(2) Australia and Antarctica

(3) Europe and Antarctica

(4) Only Antarctica




ek 1@, forgaa Tan @it v an fefafaa o & ff Tegi/mesl | 7€ e § 2
(1) W AR R Herehiem

(2) eefern ofR sferkfea
(3) I 3R IHEhfeH

(4) HEE FHeEhRiCH
Options:-

«1, Option ID :- 425,
» 2, Option ID :- 426,
« 3, Option ID :- 427,

« 4, Option ID :- 428,
Answer Given:- 3, Option ID : -427
Correct Answer :- 3 Option ID :- 427

Question ID:- 108

The longitude of 82 12" E is treated as the standard meridian for India. It passes through

which of the following region ?
(1) Great Indian Desert

2)  Western Ghats

3) Sunderban Delta

4)  Eastern Ghats

(
(
(

YR H 82 1%° Y,  Heh AR qE T © | ¥ vE Frefafiad § 9 R 61 9 g e 8
(1) HREE HRHEese

(2) ufe=H =E
(3) T ==
(4) T R
Options:-

«1, Option ID :- 429,
» 2, Option ID :- 430,
»« 3, Option ID :- 431,

» 4, Option ID :- 432,
Answer Given:- 2, Option ID : -430
Correct Answer :- 4 Option ID :- 432

Question ID:- 109

Which type of vegetation occur in the Western Ghats ?

(1) Tropical rain forest on the Western slopes and thorny bushes on the Eastern slopes.
(2) Thorny bushes on the Western slopes and tropical rain forest on the Eastern slopes.
(3) Tropical rain forest on the both slopes.

(4) Thorny bushes on the both slopes.




afeedt | § g @ =1 aefa 9 Sl 8 2

(1) ufesdt g w s wfestda auf a9 g gat @ w Fer A
(2) fvE g W e el qe Yat @l 9 I8 Hfes i gul 7
(3) QA @l W I hfes iy Al 5

(4) 2 TEl W e gifeat

Options:-

«1, Option ID :- 433,
» 2, Option ID :- 434,
» 3, Option ID :- 435,

» 4, Option ID :- 436,
Answer Given:- 1, Option ID : -433
Correct Answer :- 1 Option ID :- 433

Question ID:- 110

Cave painting in Sahara desert depicts rivers and different kinds of animals. It shows
that :

(1) People of Sahara had been highly imaginative.

(2) People of Sahara had travelled across the world.

(3) Climatic change occurred in the Saharan area.
(

4)  Foreigners were staying in Sahara.

Terl TEEe o T el o AfeEt R fafis yer & steedl 1 fommn o §) g i €
(1) HERI % &N dgd Heganid 3 |

(2) SN % N g gH U 9 |

(3) W % & § Serary uitedd gai o
(4) Torcel W& o &5 H w@d 9|
Options:-

«1, Option ID :- 437,
» 2, Option ID :- 438,
» 3, Option ID :- 439,

« 4, Option ID :- 440,
Answer Given:- 1, Option ID : -437
Correct Answer :- 3 Option ID :- 439

Question ID:- 111

Assertion (A) : Short stunted trees and grasses form the grasslands.

Reason (R) : Amount of moisture regulates the sizes of trees and their density.
Choose the correct option.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(3) (A)is true but (R) is false.

(4) Both (A) and (R) are false.




HUAT- (A) : DI SMHR el &l iR ¥, =g 1 Fmmor #3d §
HTUT - (R) : STedl I JE1 F&il o SRR 37 35E T4 &l IHIfad H 6 |
e ferehed = |

(1) (A) IR (R) SHT &1 € R (R) WEl =& &3 § (A) il

(2) (A) T (R) SHi T&l & Wfer (R) Wel =& 781 © (A) i |

(3) (A) T € oifera (R) @ B

(4) (A) 2R (R) SHI T T

Options:-

«1, Option ID :- 441,
» 2, Option ID :- 442,
» 3, Option ID :- 443,

» 4, Option ID :- 444,
Answer Given:- 4, Option ID : -444
Correct Answer :- 1 Option ID :- 441

Question ID:- 112

Which of the following is a permanent wind ?
(1) Easterlies and Monsoon winds

(2) Loo and Monsoon winds

(3) Sea breeze and Westerlies

(4) Trade winds and Westerlies

frfafiaa § & i ot T 9o+ €2
(1) et ve A g

(2) o SR T ve

(3) TS U SR fvaHr e

(4) = gaA iR ufeardt e
Options:-

«1, Option ID :- 445,
» 2, Option ID :- 446,
» 3, Option ID :- 447,

» 4, Option ID :- 448,
Answer Given:- 2, Option ID : -446
Correct Answer :- 4 Option ID :- 448

Question ID:- 113




Consider the following statements (A) and (B) about the winds :

(A) The wind blows from high pressure to low pressure.

(B) Rotation of the earth is also one of the factor which affects the direction of the winds.
Choose the correct option.

(1) Both (A) and (B) are true and (B) is the correct explanation of (A).

(2) Both (A) and (B) are true but (B) is not the correct explanation of (A).

(3)  (A)is true but (B) is false.

(4) (A) is false but (B) is true.

oAl o a H fTT e 7 < wme (A) SIRB) WEM © -

(A) e 3= T A e g 1 2R TRt €1

(B) waHi =i fegn faefvor § geslt =1 o1 SHe7 W gET ot Uk e o €9 | gifad s ¥
el fasey skl F1E i

(1) =F (A) 791 (B) Tl 9971 (B), (A) Tt Tl === 2

(2) =M (A) T (B) TR ® fRG (B), (A) F R = T 8

(3) (A) @ & foreg (B) e 2

(4) (A) T €, TR (B) W& 81

Options:-

«1, Option ID :- 449,
» 2, Option ID :- 450,
» 3, Option ID :- 451,

« 4, Option ID :- 452,
Answer Given:- 3, Option ID : -451
Correct Answer :- 2 Option ID :- 450

Question ID:- 114

Read the following statements (A) and (B) :

(A) Due to varied climatic conditions, India has a wide range of natural vegetation.
(B) Natural vegetation of any area is dependent only on rainfall in that area.
Choose the correct option.

(1) Only (A) is true.

(2) Only (B) is true.

(3) Both (A) and (B) are true.

(4) Neither (A) is true nor (B).




fr=fafaa el (A) 991 (B) &1 98 :

(A) Tafm Serarafas gensdl 3 =ed YRa § Wehfaes saeafaal § 16! e o S €
(B) Tt e fa¥e =1 wikfaer aeafa Faet gel W &9 Jret g1 o iR 81
el fFwey #1999 Fife

(1) T (A) & 2|

(2) E (B) Tl T

(3) < (A) @1 (B) TE £

(4) A dI(A) FE & E (B) R B

Options:-

«1, Option ID :- 453,
» 2, Option ID :- 454,
» 3, Option ID :- 455,

» 4, Option ID :- 456,
Answer Given:- 3, Option ID : -455
Correct Answer :- 1 Option ID :- 453

Question ID:- 115

Prince Charles mountains, which is associated with iron ore is located in :
(1) Australia

(2) Antarctica

(3) North America

(4) South America

e 319k 9§ Treg 99 9ed yeq erafied § -

(1) efefamn |

(2) Herhfe H
(3) IR e H
(4) =faor smfe |
Options:-

«1, Option ID :- 457,
» 2, Option ID :- 458,
« 3, Option ID :- 459,

» 4, Option ID :- 460,
Answer Given:- 2, Option ID : -458
Correct Answer :- 2 Option ID :- 458

Question ID:- 116




Which of the given factors can change any substance into resource ?
(A) Time

(B) Technology

(C) Need

Options :

(I) (A)and (B) only.

(2) (B) and (C) only.

(3) (A) and (C) only.

(4 (A), B ana ©)

fau v FH 8w R ot verd = gaee § giefda = g

(A) wIF

(B)  refieht

(C) &

fasrea:

(1) e (A) 3R (B)
(2) =hEE (B) 3R (C)
(3) e (A) IR (Q)
4) (A), (B) & (©)

Options:-

»1, Option ID :- 461,
» 2, Option ID :- 462,
» 3, Option ID :- 463,

» 4, Option ID :- 464,
Answer Given:- 2, Option ID : -462
Correct Answer :- 4 Option ID :- 464

Question ID:- 117

Which of the following plantations are found in the tropical regions of the world ?
(A) Rubber in Malaysia

(B) Coffee in Brazil

(C) Tea in India

(D) Maize in Canada

Options :

(1) Only (A) and (C)

@ Only (4) ) and (O

(3) Only (A), (C) and (D)

(4) Only (B), (C) and (D)




frefafaa § 9 % 9 Tqu iy fava & 3o wfea i wewl § 8 s €2
(A) wafern § @

(B) oiTsiial H Il

(C) 9Nd H =™

(D) =Tl H HFhT

(1) =9 (A) 3R Q)
(2) 9 (A), (B) 3R (C)
(3) % (A), (C) ¥R (D)
(4 %= (B), (O) 3R (D)
Options:-

«1, Option ID :- 465,

« 2, Option ID :- 466,

» 3, Option ID :- 467,

» 4, Option ID :- 468,
Answer Given:- 3, Option ID : -467
Correct Answer :- 2 Option ID :- 466

Question ID:- 118

Dr. Bhim Rao Ambedkar converted to which religion in search of equality ?
(1) Jainism

(2) Christianity

(3) Buddhism

(4) Islam

YUl &t @IS H 2L 4™ U9 Sfdedt 9 99 giEdT 2 fHE uH 1 SeEnn ?

(1) 5 9d
(2) =HE HH
(3) dig od
(4) ==TH
Options:-

»1, Option ID :- 469,
» 2, Option ID :- 470,
« 3, Option ID :- 471,

» 4, Option ID :- 472,
Answer Given:- 4, Option ID : -472
Correct Answer :- 3 Option ID :- 471

Question ID:- 119




Which among the following is NOT a valid example of diversity ?

(I) A village has members of different communities who practice different religion.
(2) Avillage has people belonging to different castes who are seen in hierarchical manner.
(3) A village has a public place where different festivals are celebrated.
(

4)  Avillage has many people who speak Hindi and some also speak English and they
often engage in common conversation.

frfafaa § § @ fafasra w1 vF S e =& &2

(1) T g § FeR1-37eR HHEE & @R € Sl Ser—3Tel 94f o I #id © |
(2) UF TG H ST WA & TR & o TeTshiad aileh § o@l S 8|
(3) T TMa H UF TSI T § STEl STo-3TeRT e sl HAr1 S |
(4)

4) U ME H Y A e dierd § SR F St aied § o 3 Te ST | arierd e
gl
Options:-

«1, Option ID :- 473,
» 2, Option ID :- 474,
» 3, Option ID :- 475,

» 4, Option ID :- 476,
Answer Given:- 4, Option ID : -476
Correct Answer :- 2 Option ID :- 474

Question ID:- 120

What is the more popular name for the Council of States in India ?
(1) Sansad

(2) Lok Sabha

(3) Rajya Sabha

(4) Vidhan Sabha

FEMAA ATF 2Td F1 G H s3] gafer 19 & €7

(1) ¥HE"

(2) i =

(3) T E

(4) faum g
Options:-

»1, Option ID :- 477,
» 2, Option ID :- 478,
» 3, Option ID :- 479,

« 4, Option ID :- 480,
Answer Given:- 2, Option ID : -478
Correct Answer :- 3 Option ID :- 479




Question ID:- 121

The “question hour” in the Parliament ensures
(I) Executive accountability towards legislature.
(2) Judicial independence from legislature.
(3)

(

4)  Judicial cooperation with the legislature.

Legislative control over judiciary.

q9e § e’ HHfv=a + B
(1) e 1 faunfar & T s
(2) FEIcreR =i faEfas | wds

(3) Taenfasst =t =rmfas w fEEm

(4) =T w1 faenfaen & Wy wedm
Options:-

«1, Option ID :- 481,
« 2, Option ID :- 482,
» 3, Option ID :- 483,

» 4, Option ID :- 484,
Answer Given:- 1, Option ID : -481
Correct Answer :- 1 Option ID :- 481

Question ID:- 122

Which among the following is not a type of market ?
(I) Weekly Market

(2) Shopping Complex

(3) Putting-Out System

(4) Malls

freafafag 0 9 #20 99 &1 U YR @) © 2

(1) Hr=fEeh S
(2) T RieeTe
(3) TIEA HEE
(4) e

Options:-

«1, Option ID :- 485,
» 2, Option ID :- 486,
» 3, Option ID :- 487,

» 4, Option ID :- 488,
Answer Given:- 3, Option ID : -487
Correct Answer :- 3 Option ID :- 487

Question ID:- 123




What is the disadvantage for a weaver in the “Putting-Out System” of making a living ?
(I) Weaver is supplied the new material by the merchant.
(2) Weaver has to bear the cost of transportation of clothes to market.

(3)  Weaver has no control over pricing of cloth in market and the merchant walks away
with the profit.

(4) Weaver has to work from his/her home in weaving the yarn into cloth.

SfiferEprarsi o fefy 31T U ' TE sHere’ | Uk St w1 #91 THEH Sl § 7

) T | AN gRI F] HId YAl S g |

) IR W FHIS SR T of S B IREET AN 1 TS €

) ISR H UL % Yed W R 61 IS T TE g SR WR gATE SR 3 8l S 2 |
) S 1 G FIEHL FIL A H HH WG FE A

Options:-

«1, Option ID :- 489,
« 2, Option ID :- 490,
» 3, Option ID :- 491,

» 4, Option ID :- 492,
Answer Given:- 3, Option ID : -491
Correct Answer :- 3 Option ID :- 491

Question ID:- 124

Rosa Parks’ refused to give up her seat to a White man in a bus. This was the
commencement of which great movement in modern history ?

(1) Civil Rights movement in United States of America.

(2) Anti-Apartheid movement in South Africa.
(3) French Revolution in France.

(4) Women’'s Suffrage movement in England.

TS g A o9 § Uk 99 IHY & foTu 2701 9ie o4 | 7R fohan 1 o8 snyfe sfaere | fg o2
HTRIEH i YEAT o ?

(1) HgR " TR &1 A sifdar seer
(2) feror stRrsRT 1 G foRie srer

(3) TR R FIEE

(4) grels 1 Higen HATHFR <o

Options:-

»1, Option ID :- 493,
» 2, Option ID :- 494,
» 3, Option ID :- 495,

» 4, Option ID :- 496,
Answer Given:- 1, Option ID : -493
Correct Answer :- 1 Option ID :- 493




Question ID:- 125

What are Anganwadis ?

(1) Women Protection Homes
(2) Child-Care Centres

(3) Mid-Day Meal Centres
(4) Old-Age Homes

SMFETE! T & 2

(1) wfear H&w 7g
(2) @R

(3) foe-2 b F=
(4) 98 =M
Options:-

«1, Option ID :- 497,
« 2, Option ID :- 498,
« 3, Option ID :- 499,

« 4, Option ID :- 500,
Answer Given:- 2, Option ID : -498
Correct Answer :- 2 Option ID :- 498

Question ID:- 126

The Right to move courts incase a citizen’s Fundamental Rights are violated has been
established by which of the following ?

(1) Right against exploitation

(2) Right to Constitutional Remedies
(3) Rightto Life

(4) Right to Personal Liberties

ferddt =Iifees o fifaer srfererdl @ &9 €9 W 39 g =arared | o o etfeeer frefafen o
H T gHfe=a F g2

(1) 3w % fawg Sl

2)  Hawifek 3TER & AfER

3)  Sited &1 SfEER

4)  HfeRETd AT S SATHFER

(
(
(

Options:-

«1, Option ID :- 501,
» 2, Option ID :- 502,
» 3, Option ID :- 503,

» 4, Option ID :- 504,
Answer Given:- 3, Option ID : -503




Correct Answer :- 2 Option ID :- 502

Question ID:- 127

Consider the following statements and identify the misuse of authority and power :

(A) A minister refuses to sanction a project of his ministry for sound technical reasons.

(B) A senior officer calling the police station to ask them not to register a complaint
against a relative.

(€) Falsely accusing a poor student in a class by the class monitor.

Choose the correct option.

(1) Only (B)

(2) Both (A) and (B)
(3) Both (B) and (C)
(4) Al (A), (B) and (©)

e el W faer Fife o) T for el g ud v o gE i 8 W@ R
(A) 3 BN S TehAIhI RN % Herd RIS Sl HS[ 7 A1
(B) = PR g7 Yfeid LU H ®I iteh [RAER o e fmmd g8 7 &l & fag

e |
(C)  heM HIHI2X RI Wk TRIs B T 2l ARIY TRIHI |
He faehed &1 =99 &ifeu
(1) %= (B)

(2) ST (A) T (B)

(3) I (B) @ (C)

(4) = (A), (B) 991 (C)
Options:-

«1, Option ID :- 505,

« 2, Option ID :- 506,

» 3, Option ID :- 507,

« 4, Option ID :- 508,
Answer Given:- 4, Option ID : -508
Correct Answer :- 3 Option ID :- 507

Question ID:- 128

Which among the following statements is true about Judiciary in India ?
(I) There is no hierarchy between different levels of the judiciary.,
(2)  The Chief Justice of a High Court is the highest judge in the country.

(3) Anappeal can be made in a High Court against a judgement passed by the Supreme
Court.

(4) Different levels of court are connected with each other through an appellate system.




A § =rmafers % fawa § frefafes § @ =0 @ 9w w6 82

(1) =rdTfees o fafim SR warHiaa saaeen § 7681 81

(2) TFH I T H A 1 B Hellw A B g

(3) THTH A & HHel & G Uk 39 ey § gAa1 o) 1T &l o Sl ¢ |
(4) e & fafiem TR UH-gE § odie Srewen & g g2 gu i

Options:-

«1, Option ID :- 509,
» 2, Option ID :- 510,
« 3, Option ID :- 511,

« 4, Option ID :- 512,
Answer Given:- 4, Option ID : -512
Correct Answer :- 4 Option ID :- 512

Question ID:- 129

Hakim Seikh and Paschim Banga Khet Mazdoor Samiti had filed a petition in the court to
ensure which of the following ?

(1) Medical Aid and health care
(2) Minimum wage

(3) Right to shelter

(4) Land rights

BIfhH 3@ Ue ufY=m o7 wd weigy Wiafd 9 Fefefad § ¥ =0 g s@H & fog =naer o
Fifereht TR i ot ?
(1) fafran v wrea Jan

(2) +IOaH o™

(3) NFA = AfHRR
(4) Yy sfger
Options:-

«1, Option ID :- 513,
» 2, Option ID :- 514,
»« 3, Option ID :- 515,

» 4, Option ID :- 516,
Answer Given:- 2, Option ID : -514
Correct Answer :- 1 Option ID :- 513

Question ID:- 130

Stereotyping a community often results in its
(1) development

(2) empowerment

(3) marginalisation

(4) diversification




fordt e &% 9N # wfgag YU SRR 39S T FRI A B

(1) fa=wme

(2) HuIfeRisRT

(3)  @IfemEmERm

(4) Tafadirro
Options:-

«1, Option ID :- 517,
»« 2, Option ID :- 518,
« 3, Option ID :- 519,

« 4, Option ID :- 520,
Answer Given:- 4, Option ID : =520
Correct Answer :- 3 Option ID :- 519

Question ID:- 131

While teaching social history, teachers need to be sensitive because :
(A) the past is context based.

(B) there are multiple pasts.

(C) the past is singular and monolithic.

(D) the past is not contentions.

Choose the correct option.

(1) Only (A)

(2) Only (A) and (B)

(3)  Only (C) |
(49 Only (B), (C) and (D)

qrifeer sfaerd & foreror & wo, e i Gagasie e =ifen Fifs
(A) sfiers deyf snenfia 2
(B) el wgferd sfaem €1

(C) sfiea s wd fafire 1
(D) sfaers foerersas 78 21
e faweq =1 =7 Hi |

(1) & (A)

(2) RSE (A) TR (B)

(3) < (C)

(4) a9 (B), (C) &R (D)

Options:-

«1, Option ID :- 521,
» 2, Option ID :- 522,
» 3, Option ID :- 523,
» 4, Option ID :- 524,




Answer Given:- 1, Option ID : -521
Correct Answer :- 2 Option ID :- 522

Question ID:- 132

What is the motive behind renaming civics as Social and Political life at upper primary
level 7

(A) Civics appeared in the Indian school curriculum in the colonial period against the
background of increasing resistance among Indians towards Raj.

(B) Social and Political Life draw its learning experiences mostly from History and
Economics.

(C) Social and Political life is based on real life situations which was practical situation
to teach concepts.

Options :

(I) Only (A) is correct.

(2) (A) and (B) are correct.

(3) (A) and (C) are correct.

(4) (A), (B) and (C) are correct.

I TIATHE TR I ARG IR &l ekl o1 AT ‘HEifse R UeH e siteq’ & & 1
FI HRYE 77
(A) SHUlTeer el § YRdE Shell qed=al H AWeR e w1 fsifew U o Ufd 9rdrEl & s

sed gfeliy =t geeyfd § wnfier foram 72 o

(B) ‘wrifsres ofR Ui Sfige’ o719 Wiae & STyEl &1 ge: sfaerd ofR 1efemss ¥ §ahg
FAAl

(C) ‘wrifsR SR Ui Sitam | ardfaes site i feafadl ox snuifed 8 i 9ok dehed T &
foru sreeifien feafadi &1 wam & 2

faerea :

(1) Fad (A) FF 2|

(2) (A) R (B) BF TH T

(3) (A) =R (C) T F

(4) (A), (B) 3R (C) =i 9 B |

Options:-

»1, Option ID :- 525,
« 2, Option ID :- 526,
« 3, Option ID :- 527,

» 4, Option ID :- 528,
Answer Given:- 4, Option ID : -528
Correct Answer :- 3 Option ID :- 527

Question ID:- 133




Which pedagogical strategy would encourage meaning-making in learners of upper
primary stage ?

(1) Giving a lot of information by going beyond the textbook.

2)  Asking learners to explore and discuss in the classroom.

3) Use punishment for every wrong answer.

4)  Use uniform and standardised tests.

(
(
(

F G forerremetg wHifa 3= mafoe @ # afrmsatsti | ered-freer w1 defed s ?
(1) eI F T SR g0 W GEAT J&H H |

(2) feETEERAlETl = e 9 =Y FH TE F= H 6 (AT FHEl |
(3) WeHe Teld I ek ferw € w1 wEE |

(4) HAM UE HAHIGd FT g G0 H TR |

Options:-

«1, Option ID :- 529,
« 2, Option ID :- 530,
» 3, Option ID :- 531,

» 4, Option ID :- 532,
Answer Given:- 2, Option ID : -530
Correct Answer :- 2 Option ID :- 530

Question ID:- 134

‘Patriotism” can be best developed in history classroom by :
(I) making it compulsory to sing the National Anthem before every class.

(2) having activities to develop a sense of belongingness and responsibility to the nation
and its people.

(3) praising the efforts of all the socio-religious information without subjecting them to
any enquiry.
(4) giving lectures on golden ancient pasts without talking about the “social context’.

sfiere =1 sen 1 ‘Syfe’ i &2 w9 9 faewfaa e s w9 g

(1) W% el 9 Y8l W 1 T A 591 % gri|

(2) <9 vE SyEfEEl & fou Soerfae vE Hag g @i e w1 fasfad w5 & for afafefri
BRI

(3) Gt TR enfifer Gereent o wATEi o far 3 formmdl 1 i ity oy g weien & |

(4) T grfSier Hey ' sy @i g sfaem o s S|

Options:-

«1, Option ID :- 533,
» 2, Option ID :- 534,
»« 3, Option ID :- 535,

» 4, Option ID :- 536,
Answer Given:- 2, Option ID : -534




Correct Answer :- 2 Option ID :- 534

Question ID:- 135

Which one is an example of an inclusive classroom ?

(I) All students are taught in the same classroom and teacher uses a uniform method
for teaching and assessment of all students.

(2) Teacher takes separate classes for special needs students.
(3) Teacher announces a weekly test for students and gives an off to special students.
(4) Teacher provides visually challenged students access to resources in Braille.

Freferfad & & i TrmEel s = Seei § 2

(1) |t ferenfef=i w1 ws & e d vgr iR steams g 9+ & foae we gam foam fafy sii
yeish fafer =1 w2 & |

(2) 31eEdeh g fafre famnfedi =1 s7er ugm|

(3) @A gr fanfer o fore qredfess gearen i s e A1 fafere fanfer =61 aden
% e srasm ol

(4) s gr gfe anfia faenfef=i =1 oa faft § foret fero |t =t sues w3

Options:-

«1, Option ID :- 537,
« 2, Option ID :- 538,
« 3, Option ID :- 539,

» 4, Option ID :- 540,
Answer Given:- 1, Option ID : -537
Correct Answer :- 4 Option ID :- 540

Question ID:- 136

Column A represents a situation ina Social -Political life classroom and Column B represents
the action taken by a teacher. Match appropriately.

A : Situation in classroom B : Action taken by teacher
I) Seeking further information
II) Prompting

I

) No response

) Partially correct response Refocusing

e

A (
B) Incomplete response (
C (
D) Completely correct response (IV) Increasing critical awareness
Choose the correct option.

(1) (A)-(D), (B)-(), (O)-(1V), (D)-(I1)
(2)  (A)-(IID), (B) ( ,( -, (D)-0)
(3 (A)-d ) (B)-(D), (C)-(I1I), (D)-(1V)
(4)  (A)-(IV), (B)-(I), (O)-(), (D)-(IN)




Fic™ A TS o Tsds siiaq & wel &1 fefaEdl w1 i & 2K Siaq B e1ea9+ g 39
feerfa  forw 13 sfaa frota =1 goiar 21

A : R T Teafeaat B : frofg
(A) =g wfafman =& =i feafa () @It SR A
(B)  1qvi Sramel et feerfd () SHE o
(C) wdfaey sama 1 feafa () 99: T HE
(D) Ui §9 a1 T (IV) SATAI=ATcH STRTEhdl ekl g1 |

T fasew %1 999 S|

(D) (A)-(), (B)-(D), (O-(IV), (D)~(I)
(2)  (A)-ID), (B)-(IV), (O)-1), (D)-(I)
(3)  (A)-D), (B)-(D), (O)-(ID), (D)-(IV)
(4)  (A)-AV), (B)-(1I), (O)-@), (D)-(I)
Options:-

«1, Option ID :- 541,
« 2, Option ID :- 542,
» 3, Option ID :- 543,

» 4, Option ID :- 544,
Answer Given:- 2, Option ID : -542
Correct Answer :- 3 Option ID :- 543

Question ID:- 137

An Elementary School teacher did following activities in her social science classroom :

. Discussion on how melting of sea effects animals.

. Analysis of weather changes using weather report and data of the country for last
50 years.

. Discussion on reasons for rising temperature on earth.

. Discussion on what causes Acid Rain.

Which of the following concept is she intending to cover through these activities ?
(1) Green House Effect

( Weather Change

(3) Climate Change

(4) Temperature Change




gRfHe TR U e sro e faam e 3 e nfafafet e €
o Tt o o wEl Sfal R g == |

o 9 faee 50 9ul 6t dram e & s #t GeEdr 9 Hram § oy uftedqt 5 faverm
AT

« Y=l 9 S AYHE % HRON 9= |

o T U % R 9T |

= Tfafaftrd % gr a8 Fre7 ® ¥ 1 99er 1 [ a9 § 2
(1) ¥ &8 u9E

(2) HEH gREdA
(3) Sierary giEda
(4) A9 YitEE
Options:-

«1, Option ID :- 545,
» 2, Option ID :- 546,
« 3, Option ID :- 547,

» 4, Option ID :- 548,
Answer Given:- 3, Option ID : -547
Correct Answer :- 3 Option ID :- 547

Question ID:- 138

At which stage of teaching a teacher will decide about the learning resources to be used
for teaching ?

(1) Pre-active stage

(2) Post-active stage

(3) Inter-active stage

(4) While explaining the concept in the classroom

foreror & fopg =001 TR U A9 FUIeT & AU 2qavas 9eEs 9t o faog oY fa=m e ?

(1) ge-wfwa =T

(2) SH-foran =10

(3)  Ad:~Topanm =

(4) RN H HHTTET Hl HHHAN o A
Options:-

«1, Option ID :- 549,
»« 2, Option ID :- 550,
« 3, Option ID :- 551,

» 4, Option ID :- 552,
Answer Given:- 3, Option ID : -551
Correct Answer :- 1 Option ID :- 549

Question ID:- 139




The purpose of probing question in social science is :
(A) To increase number of meaningful questions.
(B) To understand students thinking pattern.

(C) To go deep into pupil’s response.

Choose the correct option.

(1) Only statement (A) is correct.

(2) Statement (A) and (B) are correct.
(3) Statement (B) and (C) are correct.
(4) Statement (A) and (C) are correct.

e faam o St weel 1 SREE A ®
(A) redek Uel 1 G@A =l FeHl

(B) femnfel=i % gr=m & e =1 wwer
(C) famnfef=i o 3w =1 TRwE | S
e fasey &1 =T H

(1) Fae F29 (A) T&l E

(2) YA (A) &R FUF (B) HEl F |
(3) e (B) 2R (C) wE 2

(4) FA(A) IR () T T
Options:-

«1, Option ID :- 553,

» 2, Option ID :- 554,

« 3, Option ID :- 555,

» 4, Option ID :- 556,
Answer Given:- 3, Option ID : -555
Correct Answer :- 3 Option ID :- 555

Question ID:- 140

India’s diverse social context necessitates that social science classrooms nurture :
(1) the views of government only.

(2) the opinion of the majority.

(3) a golden past and avoid/contested topics.

(4) the views of all sections of the larger society.

et fafay wmfses e gz sifvard am m € for amnfses faam w1 e difvg =i
(1) =hereT THR 6 GIhlv hi

(2)  Afermier @l % fo=md

(3) oy sfaere =l ua fersnfed fowrdl & = @ #
(4) Iq TS o | 1 o gfeehTr &




Options:-

«1, Option ID :- 557,
»« 2, Option ID :- 558,
» 3, Option ID :- 559,

» 4, Option ID :- 560,
Answer Given:- 3, Option ID : -559
Correct Answer :- 4 Option ID :- 560

Question ID:- 141

Choose the correct order of steps for inquiry based learning :
A)  Questioning
B) Investigating

D) Recording

(
(
(C) Planning and Predicting
(
(E) Reflecting

Options :

(1) (A)-B)-(C)-(D}(E)
(2 (A)-(C)-(D)-(B)-(E)
(3)  (©)-(A)-(B)-(D)-(E)
4 (B)-(©)-(A)-(D)E)

THde ARG Hiad o fau =ror & 92t 9 6l 94 |

(A) ST
(B) Sird &Ll
(C)  Arsin AT SR STHM T
(D) fewifEn &
(E) Teia =z
fererea -
(1) (A)-(B)-(C)-(D)-(E)
(2)  (A)-(©)-(D)-(B)-(E)
(3)  (©)-(A)-(B)-(D)-(E)
(4)  (B)-(O)-(A)-(D)-(E)
Options:-

«1, Option ID :- 561,
» 2, Option ID :- 562,
« 3, Option ID :- 563,

» 4, Option ID :- 564,
Answer Given:- 3, Option ID : -563
Correct Answer :- 2 Option ID :- 562

Question ID:- 142




Consider the following statements :

Statement - A :

Social science teaching is a means for inculcating an ideology.
Statement - B :

Pedagogy of social science benefits from thematic planning,
Choose the correct option.

(1) (A)is true, (B) is false

(2) (A)is false, (B) is true

(3) (A) and (B) are true

(4) (A) and (B) are false

frafafad e @ faar &l

HUA - (A) :

s famm fram uer fommym =1 ST 5 &1 919F 2
weA - (B) :

qrarfsre fasm & e srsig ua § dinfes Jrem s §
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(1) (A)®& g (B)Tad @

(2) (A) 7 7, (B) WE

(3) (A) 3R (B) B T B

(4) (A) R (B) EHI o §
Options:-

«1, Option ID :- 565,

» 2, Option ID :- 566,

» 3, Option ID :- 567,

» 4, Option ID :- 568,
Answer Given:- 3, Option ID : -567
Correct Answer :- 2 Option ID :- 566

Question ID:- 143

A social science teacher may give which of the following to explain the condition of women
in the colonial period ?

(A) “Sultana’s dream” written by Rokeya Sakhawat.

(B) Rashsundari Devi’s autobiography “ Amar Jibon”.

(C) “Padhna jara sochna” written by Krishna Kumar.

(D) “The Subaltern subject in structural historical process” by Denzil Saldenha.
Options.

(1) Only (A)
(2) Only (A) and (B)
(3) Only (B)
(4) Only (C) and (D)
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(A) w1 TEEd g fafed e w1 T’
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(1) =9 (A)

(2) FEE (A) 3R (B)
(3) <R (B)

(4) %= (C) 3R (D)
Options:-

«1, Option ID :- 569,
» 2, Option ID :- 570,
» 3, Option ID :- 571,

» 4, Option ID :- 572,
Answer Given:- 2, Option ID : -570
Correct Answer :- 2 Option ID :- 570

Question ID:- 144

For teaching the topic “India’s Freedom Movement” a teacher brings some old newspaper

snippets having pictures and stories of partition. Which method is being used by the
teacher ?

(1) Problem solving method
(2) Field survey method

(3) Demonstration method
(4) Source method

" RE A SO ST e o fo U seas e were St iR W @[
TOTER U 1 e Hie T ol ¢ fomd 39 gug #i anfas st iR wenE 9 ¥
sees Frfafaa 5 9 g fasr fafu s wam s @ e ?

(1) Ha&a "ayE fafy

2) e Heew fafy

(

(3) ez fafy
(4) @ fafy
Options:-

«1, Option ID :- 573,
» 2, Option ID :- 574,
« 3, Option ID :- 575,




« 4, Option ID :- 576,
Answer Given:- 4, Option ID : -576
Correct Answer :- 4 Option ID :- 576

Question ID:- 145

Which statement is not related to project based learning ?
(1) It enhances a conformist approach

(2) It enhances student’s creative skill
(3)

(

4) It enhances student’s inquiry skill

It enhances student’s problem solving skills

frefafiaa § 9 #9 w wue gfEemn snafa dies = fafa 9 defyg 78 21
(1) @& sTgemarel g il sew ¢

(2) I famfE & w=args Hee # gerd € |

(3) @ Taenfei=l o wae WaEH e Hl §er @ |
(4) = faenfel o qoam S # SR B
Options:-

«1, Option ID :- 577,
» 2, Option ID :- 578,
« 3, Option ID :- 579,

» 4, Option ID :- 580,
Answer Given:- 1, Option ID : =577
Correct Answer :- 1 Option ID :- 577

Question ID:- 146

A teacherin her classroom provides students the opportunities to assess themselves. Which
of the following assessment practice is she trying to adopt in her class ?

(1) Formative Assessment

(2) Assessment for Learning

(3) Assessment of Learning
(

4)  Assessment as Learning

u forfarent wan § ferenfeii =01 W o1 oTeher S &1 STEH YRH Nl 8| 98 e 9 s
% for iR o1 ST &1 WIH L @ € 7

(1) e qedish

(2) sifer % fog sepe
(3) ferTH =1 Mehe
(

4)  sferTH & €Y H SR

Options:-
«1, Option ID :- 581,
» 2, Option ID :- 582,




» 3, Option ID :- 583,

» 4, Option ID :- 584,
Answer Given:- 4, Option ID : -584
Correct Answer :- 4 Option ID :- 584

Question ID:- 147

Which of the following should be a criteria for assessment in social science :
(A) Questioning

(B) Concern for justice and equality

(C) Remembering

(D) Cooperation

Choose the correct option.

(1) (A), (B) and (C)

(2) (B) (C) and (D)
(3) ,(B) and (D)
(4) ), (C) and (D)

= 9 9 o 9ifeies o™ | e &1 JH6 aF1 =1fed -

(A) RIS
(B) I & HHMAI 8q HId

(C) = @

(D) =&

w&t faswey 1 gAE Hifaw |
(1) (A), (B) 7= (C)

(2)  (B), (©) 7= (D)

(3) (A), (B) @41 (D)

(4)  (A), (C)a=r (D)
Options:-

«1, Option ID :- 585,
» 2, Option ID :- 586,
« 3, Option ID :- 587,

» 4, Option ID :- 588,
Answer Given:- 3, Option ID : -587
Correct Answer :- 3 Option ID :- 587

Question ID:- 148

Read the following questions which of them assesses the analytical competencies of the
students ?

(1) Who is Lekhpal ? What are his roles ?

( Distinguish between a tropical and temperate regions.

(3) If your home is burgled, where will you go to file a complaint ?
(

4) How does a population pyramid point to the quality of health system available in a
particular society ?




frfafaa goii 1 ofew) 378 | % o faenfe= =t faveromers gamamei =1 i wdl &2

(1) TEI %A S? SEH F1 i €2

(2) omeRfesi Sl Sfidre &5 % g 9T wifeT |

(3) TR 39 WX H AR Bt €, AT FHE S H S TR g w2

(4) gt gHTS B ST WS a1 TR 1 saen fufre Y fafwa wwa g2
Options:-

«1, Option ID :- 589,
» 2, Option ID :- 590,
» 3, Option ID :- 591,

» 4, Option ID :- 592,
Answer Given:- 4, Option ID : -592
Correct Answer :- 4 Option ID :- 592

Question ID:- 149

Which of the following questions assesses the “understand” aspect of the cognitive
process ?

(1) Define population explosion.

(2) List three features that lead to population change.

(3) How did East India Company bring to an end the Mughal dynasty ?
(4) If rivers dried up what would happen to human life ?

frefafiaa 8 9 %9 @1 999 FHEsE 9 & Iae’ vee #1 Ao Hll & 2
(1) SFEe faere g wifsg |

(2) i s @ gEias i S SHEer aeemE H R0 a9l 8 2
(3) % sfean st 8 TIe S % 3Hq H A AR 2

(4) PR Afeal g W, 79 T g 1 3 2 ?

Options:-

«1, Option ID :- 593,
« 2, Option ID :- 594,
» 3, Option ID :- 595,

» 4, Option ID :- 596,
Answer Given:- 2, Option ID : -594
Correct Answer :- 2 Option ID :- 594

Question ID:- 150




Which of the following option is characteristic of a well written learning outcomes ?
(I) The specified action by the students must be related to the context taught in the

classroom.
(2) The specified action by the students must be practical in the classroom.
(3)  The specified action by the students must be measurable.
(4) The specified action by the students must be observable, measurable and done by

the students.

e § § @ o1 foren t= o= forg U aafur wfawer =61 geiar 82

(1) Fifs e, e A v ST o S & g g e

(2) TAfde fohan =1 when § @1 B =feU

(3) fafde foman wrom < 2 e |

(4) FAfd= foren sraimra ara iR A 209 iR SBT3 & 3170 %1 ST =fet |
Options:-

«1, Option ID :- 597,

« 2, Option ID :- 598,

« 3, Option ID :- 599,

« 4, Option ID :- 600,
Answer Given:- 4, Option ID : -600
Correct Answer :- 4 Option ID :- 600

Subject : HIN_Q91-99_L1_P2_CTET

Question ID:- 181




few w1 ey it eaTgdes U quUT U T U9 o S & fore we suge faskeu st wEm
HifeTg |

I & o g # 500 § sifiren gtg €1 afedl & g sufeardt wa sw €1 Rt St et g
1 % IS I TE €| A TR 9 GE 1 U B fohg 21 Tehid g € - 9@ g |
FRITHER 39 519 T F1 Faifys Aeaqd 519 81 FRiHER F afadi 3 =6 g F @S a8
=R qi0ek Tl off | s ol T FE-78 =il bl @IeH i SHA FI @81 59 0 & HRY
&1 @St o Taafaen 9% go| 37 o 9yg-—2rs T YR 998 off | a9 @6 39 onfeanfai i
G T W FH AE AT T AR T W T R Ee R e & & a9 & feum wiEa @ s
feeRTaTedl X U & 7 GO @ ol i 9 7 $9 o S| aE-ate % 9E € ol | S
FS AN F1 SAF N TR o e U § R S & o 9 9 Wl @1 39 w@h F AR W
A 1 Tk g IETE L IH Sierl ARY a1 @0 d #el | 3HH AHR B faran
AR 3H i | T TR TR S I TR | B B e o shell 9us H o iR enfateR
T DIE-Hl 19 g1 & | 1@ i A fem - &

A ¥ e wgg § R g ¥ 2
(1) e 500

2) 500 § A

3) 5009 Hfuek

(4) 5000 § =AfereR
Options:-

«1, Option ID :- 721,
» 2, Option ID :- 722,
« 3, Option ID :- 723,

« 4, Option ID :- 724,
Answer Given:- 3, Option ID : -723
Correct Answer :- 3 Option ID :- 723

Question ID:- 182




few w1 ey it eaTgdes U quUT U T U9 o S & fore we suge faskeu st wEm
HifeTg |

I & o g # 500 § sifiren gtg €1 afedl & g sufeardt wa sw €1 Rt St et g
1 % IS I TE €| A TR 9 GE 1 U B fohg 21 Tehid g € - 9@ g |
FRITHER 39 519 T F1 Faifys Aeaqd 519 81 FRiHER F afadi 3 =6 g F @S a8
=R qi0ek Tl off | s ol T FE-78 =il bl @IeH i SHA FI @81 59 0 & HRY
&1 @St o Taafaen 9% go| 37 o 9yg-—2rs T YR 998 off | a9 @6 39 onfeanfai i
G T W FH AE AT T AR T W T R Ee R e & & a9 & feum wiEa @ s
feeRTaTedl X U & 7 GO @ ol i 9 7 $9 o S| aE-ate % 9E € ol | S
FS AN F1 SAF N TR o e U § R S & o 9 9 Wl @1 39 w@h F AR W
A 1 Tk g IETE L IH Sierl ARY a1 @0 d #el | 3HH AHR B faran
AR 3H i | T TR TR S I TR | B B e o shell 9us H o iR enfateR
T DIE-Hl 19 g1 & | 1@ i A fem - &

“rEr g’ e g0 WiE 9 HeEfia 82

Options:-

»1, Option ID :- 725,
» 2, Option ID :- 726,
« 3, Option ID :- 727,

« 4, Option ID :- 728,
Answer Given:- 2, Option ID : -726
Correct Answer :- 3 Option ID :- 727

Question ID:- 183




few w1 ey it eaTgdes U quUT U T U9 o S & fore we suge faskeu st wEm
HifeTg |

I & o g # 500 § sifiren gtg €1 afedl & g sufeardt wa sw €1 Rt St et g
1 % IS I TE €| A TR 9 GE 1 U B fohg 21 Tehid g € - 9@ g |
FRITHER 39 519 T F1 Faifys Aeaqd 519 81 FRiHER F afadi 3 =6 g F @S a8
=R qi0ek Tl off | s ol T FE-78 =il bl @IeH i SHA FI @81 59 0 & HRY
&1 @St o Taafaen 9% go| 37 o 9yg-—2rs T YR 998 off | a9 @6 39 onfeanfai i
G T W FH AE AT T AR T W T R Ee R e & & a9 & feum wiEa @ s
feeRTaTedl X U & 7 GO @ ol i 9 7 $9 o S| aE-ate % 9E € ol | S
FS AN F1 SAF N TR o e U § R S & o 9 9 Wl @1 39 w@h F AR W
A 1 Tk g IETE L IH Sierl ARY a1 @0 d #el | 3HH AHR B faran
AR 3H i | T TR TR S I TR | B B e o shell 9us H o iR enfateR
T DIE-Hl 19 g1 & | 1@ i A fem - &

- Wiel F faafgen I& 89 F T 7@ HRU

(1) T &1 TS @&

(2) T 1 oy T
(3) HIA HI AHIG
(4) HI i FEEiEar
Options:-

«1, Option ID :- 729,

» 2, Option ID :- 730,

« 3, Option ID :- 731,

« 4, Option ID :- 732,
Answer Given:- 2, Option ID : -730
Correct Answer :- 2 Option ID :- 730

Question ID:- 184




few w1 ey it eaTgdes U quUT U T U9 o S & fore we suge faskeu st wEm
HifeTg |

I & o g # 500 § sifiren gtg €1 afedl & g sufeardt wa sw €1 Rt St et g
1 % IS I TE €| A TR 9 GE 1 U B fohg 21 Tehid g € - 9@ g |
FRITHER 39 519 T F1 Faifys Aeaqd 519 81 FRiHER F afadi 3 =6 g F @S a8
=R qi0ek Tl off | s ol T FE-78 =il bl @IeH i SHA FI @81 59 0 & HRY
&1 @St o Taafaen 9% go| 37 o 9yg-—2rs T YR 998 off | a9 @6 39 onfeanfai i
G T W FH AE AT T AR T W T R Ee R e & & a9 & feum wiEa @ s
feeRTaTedl X U & 7 GO @ ol i 9 7 $9 o S| aE-ate % 9E € ol | S
FS AN F1 SAF N TR o e U § R S & o 9 9 Wl @1 39 w@h F AR W
A 1 Tk g IETE L IH Sierl ARY a1 @0 d #el | 3HH AHR B faran
AR 3H i | T TR TR S I TR | B B e o shell 9us H o iR enfateR
T DIE-Hl 19 g1 & | 1@ i A fem - &

51 enfearferdi % fog wg 2 us a9t awen of, #iifs
(1) HYg =1 STHR foena |

2)  HHE H S-S ol et B

3) S A A AT AT A |

(4) I TG AT AET ST e
Options:-

»1, Option ID :- 733,

» 2, Option ID :- 734,

« 3, Option ID :- 735,

« 4, Option ID :- 736,
Answer Given:- 3, Option ID : -735
Correct Answer :- 3 Option ID :- 735

Question ID:- 185




few w1 ey it eaTgdes U quUT U T U9 o S & fore we suge faskeu st wEm
HifeTg |

I & o g # 500 § sifiren gtg €1 afedl & g sufeardt wa sw €1 Rt St et g
1 % IS I TE €| A TR 9 GE 1 U B fohg 21 Tehid g € - 9@ g |
FRITHER 39 519 T F1 Faifys Aeaqd 519 81 FRiHER F afadi 3 =6 g F @S a8
=R qi0ek Tl off | s ol T FE-78 =il bl @IeH i SHA FI @81 59 0 & HRY
&1 @St o Taafaen 9% go| 37 o 9yg-—2rs T YR 998 off | a9 @6 39 onfeanfai i
G T W FH AE AT T AR T W T R Ee R e & & a9 & feum wiEa @ s
feeRTaTedl X U & 7 GO @ ol i 9 7 $9 o S| aE-ate % 9E € ol | S
FS AN F1 SAF N TR o e U § R S & o 9 9 Wl @1 39 w@h F AR W
A 1 Tk g IETE L IH Sierl ARY a1 @0 d #el | 3HH AHR B faran
AR 3H i | T TR TR S I TR | B B e o shell 9us H o iR enfateR
T DIE-Hl 19 g1 & | 1@ i A fem - &

" e fREE AR T 7

(1) e & o 9§
(2) "fRFA ST I
(3) iFe & Wi |
(

4) I & el |

Options:-

«1, Option ID :- 737,
» 2, Option ID :- 738,
« 3, Option ID :- 739,

« 4, Option ID :- 740,
Answer Given:- 2, Option ID : -738
Correct Answer :- 2 Option ID :- 738

Question ID:- 186




few w1 ey it eaTgdes U quUT U T U9 o S & fore we suge faskeu st wEm
HifeTg |

I & o g # 500 § sifiren gtg €1 afedl & g sufeardt wa sw €1 Rt St et g
1 % IS I TE €| A TR 9 GE 1 U B fohg 21 Tehid g € - 9@ g |
FRITHER 39 519 T F1 Faifys Aeaqd 519 81 FRiHER F afadi 3 =6 g F @S a8
=R qi0ek Tl off | s ol T FE-78 =il bl @IeH i SHA FI @81 59 0 & HRY
&1 @St o Taafaen 9% go| 37 o 9yg-—2rs T YR 998 off | a9 @6 39 onfeanfai i
G T W FH AE AT T AR T W T R Ee R e & & a9 & feum wiEa @ s
feeRTaTedl X U & 7 GO @ ol i 9 7 $9 o S| aE-ate % 9E € ol | S
FS AN F1 SAF N TR o e U § R S & o 9 9 Wl @1 39 w@h F AR W
A 1 Tk g IETE L IH Sierl ARY a1 @0 d #el | 3HH AHR B faran
AR 3H i | T TR TR S I TR | B B e o shell 9us H o iR enfateR
T DIE-Hl 19 g1 & | 1@ i A fem - &

g3 Tergreror—fagrsr =1 ey & 2
(1) B =

(2) Fzm

(3) T8 =S

(4) G HEA
Options:-

«1, Option ID :- 741,
» 2, Option ID :- 742,
« 3, Option ID :- 743,

« 4, Option ID :- 744,
Answer Given:- 2, Option ID : -742
Correct Answer :- 4 Option ID :- 744

Question ID:- 187




feu 7T TNy St LEEYEeh UfeT T YW T UYH o SO o forg wed Suger fased @t =ee
HifeTg |

I W o TYg H 500 § stfuss grg & 1| wfedi & g sfeardt wa s €1 gt st Seft qrem
1 % IS I TE €| A TR 9 GE 1 U B fohg 21 Tehid g € - 9@ g |
FRITHER 39 519 T F1 Faifys Aeaqd 519 81 FRiHER F afadi 3 =6 g F @S a8
qHi=ek ik | =1 Al | H 1 THTE 755 =S ol @ISH 1T SIHA 1 @12 | 9 701 o R0l
&1 @St o Taafaen 9% go| 37 o 9yg-—2rs T YR 998 off | a9 @6 39 onfeanfai i
g S W FE TE AT S A4S 9 8 T R Ee W e & a9 e fonm wima d@ o)
feeRTaTedl X U & 7 GO @ ol i 9 7 $9 o S| aE-ate % 9E € ol | S
FS AN F1 SAF N TR o e U § R S & o 9 9 Wl @1 39 w@h F AR W
A 1 Tk g IETE L IH Sierl ARY a1 @0 d #el | 3HH AHR B faran
AR 3H i | T TR TR S I TR | B B e o shell 9us H o iR enfateR
T DIE-Hl 19 g1 & | 1@ i A fem - &

49w 9 i sA-wm g2

(1) &
(2) fagm
@) f=
(4) =
Options:-

»1, Option ID :- 745,
» 2, Option ID :- 746,
« 3, Option ID :- 747,

« 4, Option ID :- 748,
Answer Given:- 4, Option ID : -748
Correct Answer :- 4 Option ID :- 748

Question ID:- 188




feu 7T TNy St LEEYEeh UfeT T YW T UYH o SO o forg wed Suger fased @t =ee
HifeTg |

I W o TYg H 500 § stfuss grg & 1| wfedi & g sfeardt wa s €1 gt st Seft qrem
1 % IS I TE €| A TR 9 GE 1 U B fohg 21 Tehid g € - 9@ g |
FRITHER 39 519 T F1 Faifys Aeaqd 519 81 FRiHER F afadi 3 =6 g F @S a8
qHi=ek ik | =1 Al | H 1 THTE 755 =S ol @ISH 1T SIHA 1 @12 | 9 701 o R0l
&1 @St o Taafaen 9% go| 37 o 9yg-—2rs T YR 998 off | a9 @6 39 onfeanfai i
g S W FE TE AT S A4S 9 8 T R Ee W e & a9 e fonm wima d@ o)
feeRTaTedl X U & 7 GO @ ol i 9 7 $9 o S| aE-ate % 9E € ol | S
FS AN F1 SAF N TR o e U § R S & o 9 9 Wl @1 39 w@h F AR W
A 1 Tk g IETE L IH Sierl ARY a1 @0 d #el | 3HH AHR B faran
AR 3H i | T TR TR S I TR | B B e o shell 9us H o iR enfateR
T DIE-Hl 19 g1 & | 1@ i A fem - &

Options:-

»1, Option ID :- 749,
» 2, Option ID :- 750,
« 3, Option ID :- 751,

« 4, Option ID :- 752,
Answer Given:- 2, Option ID : -750
Correct Answer :- 1 Option ID :- 749

Question ID:- 189




feu 7T TNy St LEEYEeh UfeT T YW T UYH o SO o forg wed Suger fased @t =ee
HifeTg |

I W o TYg H 500 § stfuss grg & 1| wfedi & g sfeardt wa s €1 gt st Seft qrem
T % A I W 7| STeHE-TTRE 59 9hg 1 U SR fahg 1l Wed 519 § - e g |
FRITHER 39 519 THE F1 FaiieE Aeaqel 519 81 FHRIAHER F aradl 3 =96 a9 Hi @ a8
U=k ik | a1 ol | H 1 THTE A5-% =Sl ohl @IsH 1T SIHA 1 @12 | 9 701 o R0
&1 @Sl o THafae 9% gail| 37 o 9yg—ara T YR §9e off | a9 @6 39 offeartai &
TE S W FE T A1 S A 9 8 T R Ee W e & a9 e fonm w1 @ e
foeRTafi ot sk € 7 WeR @ ol o 9 7 59 e S0 dE-ate % E € ol | S
FS A B AH A RS9 g urt § R S § 9 9% 9w Wt €1 3% T F aR W
AT & Tk Ug IS L 39 SieMT ARY | @0 q #el | 3°H AFR B faran
T 9 i | GFHT 9T TR S8 OF f6a1 | 398 3% Hqad o shell 98 H 976 3R e1fEaten
ek DIE-Hl 719 g1 i | 1@ i A fem - & |

‘=3 feam wfma @ 531

239 & YR W FE-9E Fa1Y |
(1) faurarses

(2) Hehaaras®

(3) E=RTETEh

4) fowgEfeares

Options:-

«1, Option ID :- 753,
» 2, Option ID :- 754,
« 3, Option ID :- 755,

« 4, Option ID :- 756,
Answer Given:- 3, Option ID : -755
Correct Answer :- 1 Option ID :- 753

Subject : HIN_Q100-105_L1_P2_CTET

Question ID:- 190




feu 7T wrEyr S sAgEe Ufeu auT U MU U9 o I6 o fold Hed 3ugad fased @
U I
ST stfeery ari-awy
Tz for farml
S =g T YUF-9a] WY
fera form T w1 e |
e, 379 37! 519 9 |
S sfor oy <9 gER
TEE § U foFn
Sei-siert 971 Y, farat e
T E 18 HE G |
THETH, 3TN SH! o1F 9 |
I8 il feh Sl sl FAfYd & ?
(1) S/ Sie 9Tl sl
(2) oRESH A HfEE Hl
(3) HgHfH B WON T Ml < Al
(4) HFYf 3G TS FwEE 9l @
Options:-
»1, Option ID :- 757,
» 2, Option ID :- 758,

» 3, Option ID :- 759,

» 4, Option ID :- 760,
Answer Given:- 3, Option ID : -759
Correct Answer :- 3 Option ID :- 759

Question ID:- 191




few 7w wwreatyr ht sAYEe Ufen GO U T U9 o AT o folg el Suge fasen @

U I

ST stfeery ari-awy

Toeat o farmd

Sil =g T g9l T

fera form T w1 e |

SHerH, 31 39! 59 are |
S sfor oy <9 gER
THE 8 T fF
Sei-siert 971 Y, farat e
T E 18 HE G |
heTH, TS 3! 91 die |

i § ‘gra-oEl’ | N © -

(1)  ufez 3

(2) Y= Ed
(3) dfeieM =l o<
(4) foam =) 3
Options:-

«1, Option ID :- 761,
» 2, Option ID :- 762,
» 3, Option ID :- 763,

» 4, Option ID :- 764,
Answer Given:- 3, Option ID : -763
Correct Answer :- 3 Option ID :- 763

Question ID:- 192




few 7w wwreatyr ht sAYEe Ufen GO U T U9 o AT o folg el Suge fasen @

U I

ST stfeery ari-awy

Toeat o farmd

Sil =g T g9l T

fera form T w1 e |

SHerH, 31 39! 59 are |
S sfor oy <9 gER
THE 8 T fF
Sei-siert 971 Y, farat e
T E 18 HE G |
heTH, TS 3! 91 die |

hierdl 1 Gfeai | -9 9 82

(1) =&
(2) @
(3) AR
(4) =BT™A
Options:-

»1, Option ID :- 765,
» 2, Option ID :- 766,
» 3, Option ID :- 767,

» 4, Option ID :- 768,
Answer Given:- 1, Option ID : -765
Correct Answer :- 2 Option ID :- 766

Question ID:- 193




few 7w wwreatyr ht sAYEe Ufen GO U T U9 o AT o folg el Suge fasen @
U I
ST Srfeersl SRy-am
foesn e fami
S =g T YUF-9a] WY
fera famm T 1 e |
FHAH, 3T 7] 59 9t |
S sfor oy <9 gER
THE 8 T fF
Sei-siert 971 Y, farat e
T E 18 HE G |
erd, 318 3! 5 @ie |
ST 931 T A ¥ -
(1) S0 1 STerRt g5l Sl
(2) T HERL AR Tl JIS B
(3) T HEH A B S
(4) EE H I FH T S

(1]

=

Options:-

»1, Option ID :- 769,
» 2, Option ID :- 770,
» 3, Option ID :- 771,

» 4, Option ID :- 772,
Answer Given:- 2, Option ID : =770
Correct Answer :- 2 Option ID :- 770

Question ID:- 194




feu 7T wrEyr S sAgEe Ufeu auT U MU U9 o I6 o fold Hed 3ugad fased @
U I
ST stfeery ari-awy

Tz for farml

S =g T YUF-9a] WY

fera form T w1 e |

SHerH, 31 39! 59 are |
S sfor oy <9 gER
qEM H T i
Sei-siert 971 Y, farat e
T E 18 HE G |
THETH, 3TN SH! o1F 9 |

W@ﬁﬁﬁ%:

(1) ==

2) H«

(3) @«

4) =R

Options:-

«1, Option ID :- 773,
» 2, Option ID :- 774,
» 3, Option ID :- 775,

» 4, Option ID :- 776,
Answer Given:- 4, Option ID : -776
Correct Answer :- 4 Option ID :- 776

Question ID:- 195




feu 7T wrEyr S sAgEe Ufeu auT U MU U9 o I6 o fold Hed 3ugad fased @
U I
ST stfeery ari-awy
Toesr forem faamd
S =g T YUF-9a] WY
fera form T w1 e |
e, 379 37! 519 9 |
S sfor oy <9 gER
THE 8 T fF
Sei-siert 971 Y, farat e
T E 18 HE G |
THETH, 3TN SH! o1F 9 |
frefafea § 9 fasvor-fasr =1 Sertm € -

(1) =E-=

(2) S EE

(3) @

(4) e SAfery
Options:-

«1, Option ID :- 777,
» 2, Option ID :- 778,
« 3, Option ID :- 779,

» 4, Option ID :- 780,
Answer Given:- 3, Option ID : -779
Correct Answer :- 3 Option ID :- 779

Subject : HIN_Q106-120_L1_P2_CTET
Question ID:- 196

wHefl 7 <l forferer U usll’ hfad o 9eT-3ud #E o w9 enfeE § g a9 e
SFE H aEEl g9e % fou weda €1 9 -

(1) &9 FE =1 9919 w4 & fog et = g fdafafeE § oo @ @ e

(2) T % W FHeN H TR

(3) Toranferdi o gem R FRrE w1 fows FT % T = @ e
(4) 9T R SFEER o A1y afed @ 2

Options:-

«1, Option ID :- 781,
» 2, Option ID :- 782,
» 3, Option ID :- 783,

« 4, Option ID :- 784,
Answer Given:- 2, Option ID : -782




Correct Answer :- 2 Option ID :- 782

Question ID:- 197

TIRET Y o1 Ui o sgfees €, 38 U S9eF & &9 § swmra feen s =nfen. faad-
(1) Hedeh o= U gl aiish § HiE weh

(2) == | sl 9 uitfea & ek

3) Torerer fafim sored & frgomn g = geh
(4) Y o AT AR e HEgy HT Hoh
Options:-

«1, Option ID :- 785,
» 2, Option ID :- 786,
« 3, Option ID :- 787,

« 4, Option ID :- 788,
Answer Given:- 2, Option ID : -786
Correct Answer :- 4 Option ID :- 788

Question ID:- 198

& ed WHIT e <l B
(1) e % fore qrgd - Te

(2) Tomga SFeRR % e v

(3) Hyl wHe % ferg g

(4) T o forg wg

Options:-

«1, Option ID :- 789,
« 2, Option ID :- 790,
« 3, Option ID :- 791,

» 4, Option ID :- 792,
Answer Given:- 2, Option ID : -790
Correct Answer :- 2 Option ID :- 790

Question ID:- 199

wHaifuer 3fad fasked 1 997 #d g F=fafaa sum =1 g Fifey -
I WIS o oy foa-18a U Oodam SueE 81 el €, Hife
(1) ¥% Heaqul Hehd IUeed U0l & foh e § = 8 @ e

(2) TE 3% AT foamee gurRa ¥ Heg HE §
(3) ¥ 3% eyt SR =1 TrEe oA §
4) &R g4 foneneft s @

Options:-

«1, Option ID :- 793,
» 2, Option ID :- 794,
» 3, Option ID :- 795,




» 4, Option ID :- 796,
Answer Given:- 3, Option ID : -795
Correct Answer :- 1 Option ID :- 793

Question ID:- 200

TF Y9E] T8 oiEd | e B

(2)

(3) o, W T FET

(4) Toenfef=i =1 enfaet s o fog stefwfes am
Options:-

«1, Option ID :- 797,

»« 2, Option ID :- 798,

« 3, Option ID :- 799,

« 4, Option ID :- 800,
Answer Given:- 3, Option ID : -799
Correct Answer :- 3 Option ID :- 799

Question ID:- 201

BTe o= TRt oft Tee uX e =1 it 0 - SEE UEE R § | T8 FHEe © -

(1) o eEA

(2) wHEEEE dEA

(3) rS-fawet W

4) o erEA
Options:-

»1, Option ID :- 801,
» 2, Option ID :- 802,
» 3, Option ID :- 803,

» 4, Option ID :- 804,
Answer Given:- 3, Option ID : -803
Correct Answer :- 3 Option ID :- 803

Question ID:- 202

e T A € -

(1) a1 el o drem oiR ster &1 g
(2) SER-tAH Hey g H

(3) VISEI hl WIT % WHY ZHel & ©I H U
4) eaf-fasm o e wiEd wen

Options:-

«1, Option ID :- 805,
» 2, Option ID :- 806,
»« 3, Option ID :- 807,




« 4, Option ID :- 808,
Answer Given:- 3, Option ID : -807
Correct Answer :- 3 Option ID :- 807

Question ID:- 203

us ffersr @sa amo & Rreor % fou S=Ai &) AIguTa 1 STQYE 1 WA oA &1 d

= AN @ R
(1) SAH-3TEE TG
(2) HHE gSfd
(3) HTEAIIUNH
(4) HEYUIE IUNTH
Options:-

«1, Option ID :- 809,
« 2, Option ID :- 810,
« 3, Option ID :- 811,

« 4, Option ID :- 812,
Answer Given:- 1, Option ID : -809
Correct Answer :- 1 Option ID :- 809

Question ID:- 204

A1 gAY A i difaes e o TR-unfegs gew wd @14 % yfa wgfea @l
W gfdfshan <7 =1 FrEd 81

(1) A T AR THH

(2) FEeH IR faveryo &

(3) @A iR favemm H

(4) @A AR Gyefrd

—

Options:-

»1, Option ID :- 813,
» 2, Option ID :- 814,
« 3, Option ID :- 815,

« 4, Option ID :- 816,
Answer Given:- 2, Option ID : -814
Correct Answer :- 2 Option ID :- 814

Question ID:- 205

e G o g Fae ) ementa S o S -dl viserael gt st & 2
(1) @I FL el 1 9%

(2) dra-FERE am%

(3)  fory-frdferd ares

(4)  TIBSI =0T H ° 23R =1 1 e
Options:-

»1, Option ID :- 817,




» 2, Option ID :- 818,
» 3, Option ID :- 819,

« 4, Option ID :- 820,
Answer Given:- 4, Option ID : -820
Correct Answer :- 1 Option ID :- 817

Question ID:- 206

g U 1 319 YS! a6l H Toh TH IS H @ € SEl e §gd 9 A1 A oft g T@
2, 3ga o fasm diffa ®1 frefafes § 9 S swds Fum &1 gada w3 &2

(1) FEP-HT= &1 g

(2) T 278 T FHE

(3) Towma =i HagTeia sfafy

(4) TS HEE

Options:-

«1, Option ID :- 821,
» 2, Option ID :- 822,
« 3, Option ID :- 823,

» 4, Option ID :- 824,
Answer Given:- 4, Option ID : -824
Correct Answer :- 3 Option ID :- 823

Question ID:- 207
frafafaa § 9§ S9-91 987 51 SU-F19d T8l &2
(1)  Fe S

(2)  STHM T
@) fafveg %
(4) FAFEEA

Options:-

«1, Option ID :- 825,
»« 2, Option ID :- 826,
« 3, Option ID :- 827,

» 4, Option ID :- 828,
Answer Given:- 2, Option ID : -826
Correct Answer :- 3 Option ID :- 827

Question ID:- 208

U e 39 o § faa s @ o foanf = sl Seame frew fee s =ife, ifw
g Y-S =1 G4 =11 €, foers = 7g favary 4 Haifed g

(1) @Il % HHS-Hiwkas fagid

(2) TyF= 1 HarHE o i fHgid

(3) TERT = SHeERaR & fHgid
(

4) W% I & -3 *1 fagia




Options:-

«1, Option ID :- 829,
» 2, Option ID :- 830,
» 3, Option ID :- 831,

« 4, Option ID :- 832,
Answer Given:- 4, Option ID : -832
Correct Answer :- 4 Option ID :- 832

Question ID:- 209

frefafiaa & e fafrend wam-a 1 38R 3 7

(1) == o § T Sia=id s @ 8 AR Ha § -4 e & T e
2) == uE R fod s & g foaee ¥ fog @ 8

(3) Torameft forers =1 ardi 1 9gA AW G @ §

(4) Torenferai 1 stvet Ml gr e S §

Options:-

«1, Option ID :- 833,
» 2, Option ID :- 834,
»« 3, Option ID :- 835,

« 4, Option ID :- 836,
Answer Given:- 1, Option ID : -833
Correct Answer :- 1 Option ID :- 833

Question ID:- 210

«7s1 1 foar amet 9 9 39 foan § gufda # f -
(1) o ZAR foaq SR geaeon < Ui =1 s 999 w3l §

) um 3iR Gepfa et oi s §

3) &A% aR d o T ¥ oo o € o Sad €, s sHen fuio s ©
(4) o= =i R 93 | e i e i T8

Options:-

«1, Option ID :- 837,
» 2, Option ID :- 838,
« 3, Option ID :- 839,

» 4, Option ID :- 840,
Answer Given:- 3, Option ID : -839
Correct Answer :- 1 Option ID :- 837

Subject : Sanskrit_Q121-128_L2_P2_CTET

Question ID:- 923




ssiferfad eyt ufewar Uyt fasheararahaye: Ture-gw fed -

sife SR Fdfaehl AW TRl | qHeaEE ¥ eEata - gEd wAreaE e
TRIS TR HAE e AEHEqEas s Afaeafd | a3 g el Aidsiad— w21 Ifgyyaes o
Frafadeay || S | g% HUUqasaHY Tl WEgyT yrEE- g | gfeydE F5% | w5
- HEAH ? T HHAR: 2" WSS SThI ST | FoeTanais: ggfifHfcrean vaeene genftd: |
Ifg RIS H g, demEredtsasiiteay e geeEtite el | a6 s uw
TEATAI T USTl: Hed Famgyar | 591 31, foafad @ grees 7 - ' gvs: i gei:
Hal: gUE: waAT et | guE Hﬁﬁ’gﬁ%ﬂ: " wifeeisfy gves wewd wfaweafa )| em: od: gy
fAfead FRsEmearERataafasdfasfa | qae ageen 7 fauafd 991 Fen Foamrr=d 567 |
FoFEcHr Afea: | TalsT T TRE: HOfess: Serac sraergg fFe: | qas g
- ‘g@ e feEmg At ? ug fofadiss B3 wae uw' ) e faseiE-ga ! 9e
JEmshlaeTia $ealis | F45He aafy @ Yoad: Fasie  adeRyl §: @ | 7dl "erag e
BT eIy ifara: | 3T e — ' favarr 78w Ay ags SH

‘e ST S S (3Tt ) sfiee #isd: 2

(1) =l
(2) SWERRY
(3) foreams
(4) ITULREH
Options:-

«+1, Option ID :- 3689,
» 2, Option ID :- 3690,
» 3, Option ID :- 3691,

» 4, Option ID :- 3692,
Answer Given:- 2, Option ID : -3690
Correct Answer :- 2 Option ID :- 3690

Question ID:- 924




ssiferfad eyt ufewar Uyt fasheararahaye: Ture-gw fed -

sife SR Fdfaehl AW TRl | qHeaEE ¥ eEata - gEd wAreaE e
TRIS TR HAE e AEHEqEas s Afaeafd | a3 g el Aidsiad— w21 Ifgyyaes o
Frafadeay || S | g% HUUqasaHY Tl WEgyT yrEE- g | gfeydE F5% | w5
- HEAH ? T HHAR: 2" WSS SThI ST | FoeTanais: ggfifHfcrean vaeene genftd: |
Ifg RIS H g, demEredtsasiiteay e geeEtite el | a6 s uw
TEATAI T USTl: Hed Famgyar | 591 31, foafad @ grees 7 - ' gvs: i gei:
Hal: gUE: waAT et | guE Hﬁﬁ’gﬁ%ﬂ: " wifeeisfy gves wewd wfaweafa )| em: od: gy
fAfead FRsEmearERataafasdfasfa | qae ageen 7 fauafd 991 Fen Foamrr=d 567 |
FoFEcHr Afea: | TalsT T TRE: HOfess: Serac sraergg fFe: | qas g
- ‘g@ e feEmg At ? ug fofadiss B3 wae uw' ) e faseiE-ga ! 9e
JEmshlaeTia $ealis | F45He aafy @ Yoad: Fasie  adeRyl §: @ | 7dl "erag e
BT eIy ifara: | 3T e — ' favarr 78w Ay ags SH

‘TR Tden A fageta a9 Fel STy g e e 2

(1) FYfaewe
(2) fHewa

(3) 3INEH
(4) T
Options:-

»1, Option ID :- 3693,
» 2, Option ID :- 3694,
» 3, Option ID :- 3695,

» 4, Option ID :- 3696,
Answer Given:- 1, Option ID : -3693
Correct Answer :- 4 Option ID :- 3696

Question ID:- 925




ssiferfad eyt ufewar Uyt fasheararahaye: Ture-gw fed -

sife SR Fdfaehl AW TRl | qHeaEE ¥ eEata - gEd wAreaE e
TRIS TR HAE e AEHEqEas s Afaeafd | a3 g el Aidsiad— w21 Ifgyyaes o
Frafadeay || S | g% HUUqasaHY Tl WEgyT yrEE- g | gfeydE F5% | w5
- HEAH ? T HHAR: 2" WSS SThI ST | FoeTanais: ggfifHfcrean vaeene genftd: |
Ifg RIS H g, demEredtsasiiteay e geeEtite el | a6 s uw
TEATAI T USTl: Hed Famgyar | 591 31, foafad @ grees 7 - ' gvs: i gei:
Hal: gUE: waAT et | guE Hﬂﬁgﬁm:l""aﬁﬁ?ﬁISﬁ@m%ﬁMIm: e gy
fAfead FRsEmearERataafasdfasfa | qae ageen 7 fauafd 991 Fen Foamrr=d 567 |
FoFEcHr Afea: | TalsT T TRE: HOfess: Serac sraergg fFe: | qas g
- ‘g@ e feEmg At ? ug fofadiss B3 wae uw' ) e faseiE-ga ! 9e
JEmshlaeTia $ealis | F45He aafy @ Yoad: Fasie  adeRyl §: @ | 7dl "erag e
BT eIy ifara: | 3T e — ' favarr 78w Ay ags SH

‘AT vee: Y TR ?

(1) 99+ AT+ 91 8rq: + o 934

(2) EH+ 1] 81q: + g 9eqH: + UETH:
(3)
(4)

3 HH + AT + T YUT: + A
4 HH + 3 H1q: + FAHAA:
Options:-

«+1, Option ID :- 3697,
» 2, Option ID :- 3698,
» 3, Option ID :- 3699,

» 4, Option ID :- 3700,
Answer Given:- 1, Option ID : -3697
Correct Answer :- 1 Option ID :- 3697

Question ID:- 926




ssiferfad eyt ufewar Uyt fasheararahaye: Ture-gw fed -

sife SR Fdfaehl AW TRl | qHeaEE ¥ eEata - gEd wAreaE e
TRIS TR HAE e AEHEqEas s Afaeafd | a3 g el Aidsiad— w21 Ifgyyaes o
Frafadeay || S | g% HUUqasaHY Tl WEgyT yrEE- g | gfeydE F5% | w5
- HEAH ? T HHAR: 2" WSS SThI ST | FoeTanais: ggfifHfcrean vaeene genftd: |
Ifg RIS H g, demEredtsasiiteay e geeEtite el | a6 s uw
TEATAI T USTl: Hed Famgyar | 591 31, foafad @ grees 7 - ' gvs: i gei:
Hal: gUE: waAT et | guE Hﬁﬁ’gﬁ%ﬂ: " wifeeisfy gves wewd wfaweafa )| em: od: gy
fAfead FRsEmearERataafasdfasfa | qae ageen 7 fauafd 991 Fen Foamrr=d 567 |
FoFEcHr Afea: | TalsT T TRE: HOfess: Serac sraergg fFe: | qas g
- ‘g@ e feEmg At ? ug fofadiss B3 wae uw' ) e faseiE-ga ! 9e
JEmshlaeTia $ealis | F45He aafy @ Yoad: Fasie  adeRyl §: @ | 7dl "erag e
BT eIy ifara: | 3T e — ' favarr 78w Ay ags SH
‘rfgues T=fy @ YO F: 5E wor: | sfaveee sy ?

(1) e

(2) srcHfavamE:

(3) efaam:

(4) favam:
Options:-

«1, Option ID :- 3701,
» 2, Option ID :- 3702,
» 3, Option ID :- 3703,

» 4, Option ID :- 3704,
Answer Given:- 4, Option ID : -3704
Correct Answer :- 4 Option ID :- 3704

Question ID:- 927




ssiferfad eyt ufewar Uyt fasheararahaye: Ture-gw fed -

sife SR Fdfaehl AW TRl | qHeaEE ¥ eEata - gEd wAreaE e
TRIS TR HAE e AEHEqEas s Afaeafd | a3 g el Aidsiad— w21 Ifgyyaes o
Frafadeay || S | g% HUUqasaHY Tl WEgyT yrEE- g | gfeydE F5% | w5
- HEAH ? T HHAR: 2" WSS SThI ST | FoeTanais: ggfifHfcrean vaeene genftd: |
Ifg RIS H g, demEredtsasiiteay e geeEtite el | a6 s uw
TEATAI T USTl: Hed Famgyar | 591 31, foafad @ grees 7 - ' gvs: i gei:
Hal: gUE: waAT et | guE Hﬁﬁ’gﬁ%ﬂ: " wifeeisfy gves wewd wfaweafa )| em: od: gy
fAfead FRsEmearERataafasdfasfa | qae ageen 7 fauafd 991 Fen Foamrr=d 567 |
FoFEcHr Afea: | TalsT T TRE: HOfess: Serac sraergg fFe: | qas g
- ‘g@ e feEmg At ? ug fofadiss B3 wae uw' ) e faseiE-ga ! 9e
JEmshlaeTia $ealis | F45He aafy @ Yoad: Fasie  adeRyl §: @ | 7dl "erag e
BT eIy ifara: | 3T e — ' favarr 78w Ay ags SH

‘T woreTE | 5oy veee sy Fregfasatd 2

(1) 9+ 7E+ T
(2) F+TH+
(3) WUH+A

(4) TH+ 39
Options:-

«1, Option ID :- 3705,
» 2, Option ID :- 3706,
» 3, Option ID :- 3707,

» 4, Option ID :- 3708,
Answer Given:- 3, Option ID : -3707
Correct Answer :- 2 Option ID :- 3706

Question ID:- 928




ssiferfad eyt ufewar Uyt fasheararahaye: Ture-gw fed -

sife SR Fdfaehl AW TRl | qHeaEE ¥ eEata - gEd wAreaE e
TRISEIRAAS e A o wfqefd |’ T ggemer gfdsman-" w1 Ffguvmaesd 7
Frafadeay || S | g% HUUqasaHY Tl WEgyT yrEE- g | gfeydE F5% | w5
- HEAH ? T HHAR: 2" WSS SThI ST | FoeTanais: ggfifHfcrean vaeene genftd: |
Ifg RIS H g, demEredtsasiiteay e geeEtite el | a6 s uw
TEATAI T USTl: Hed Famgyar | 591 31, foafad @ grees 7 - ' gvs: i gei:
Hal: gUE: waAT et | guE Hﬁﬁ’gﬁ%ﬂ: " wifeeisfy gves wewd wfaweafa )| em: od: gy
fAfead FRsEmearERataafasdfasfa | qae ageen 7 fauafd 991 Fen Foamrr=d 567 |
FoFEcHr Afea: | TalsT T TRE: HOfess: Serac sraergg fFe: | qas g
- ‘g@ e feEmg At ? ug fofadiss B3 wae uw' ) e faseiE-ga ! 9e
JEmshlaeTia $ealis | F45He aafy @ Yoad: Fasie  adeRyl §: @ | 7dl "erag e
BT eIy ifara: | 3T e — ' favarr 78w Ay ags SH

F1gl S Togardl a1 wven: ?

(1) o

(2) SNSH

(3) G AT I

(4) eAfaTEEHA

Options:-

«1, Option ID :- 3709,

« 2, Option ID :- 3710,

» 3, Option ID :- 3711,

» 4, Option ID :- 3712,
Answer Given:- 3, Option ID : -3711
Correct Answer :- 3 Option ID :- 3711

Question ID:- 929




ssiferfad eyt ufewar Uyt fasheararahaye: Ture-gw fed -

sife SR Fdfaehl AW TRl | qHeaEE ¥ eEata - gEd wAreaE e
TRIS TR HAE e AEHEqEas s Afaeafd | a3 g el Aidsiad— w21 Ifgyyaes o
HiufFraerd | S 9 a9 HYdeshaHy Tl HEgdE gureEE - ta | gfeyEe #5% 1 g5l
- HEAH ? T HHAR: 2" WSS SThI ST | FoeTanais: ggfifHfcrean vaeene genftd: |
Ifg RIS H g, demEredtsasiiteay e geeEtite el | a6 s uw
TEATAI T USTl: Hed Famgyar | 591 31, foafad @ grees 7 - ' gvs: i gei:
Hal: gUE: waAT et | guE Hﬁﬁ’gﬁ%ﬂ: " wifeeisfy gves wewd wfaweafa )| em: od: gy
fAfeed agvemarRafaafasfesf | qeaen ayeaen 7 foeefd 991 FHen Fearradi oo ' |
FoFEcHr Afea: | TalsT T TRE: HOfess: Serac sraergg fFe: | qas g
- ‘g@ e feEmg At ? ug fofadiss B3 wae uw' ) e faseiE-ga ! 9e
JEmshlaeTia $ealis | F45He aafy @ Yoad: Fasie  adeRyl §: @ | 7dl "erag e
BT eIy ifara: | 3T e — ' favarr 78w Ay ags SH

TS WEd el AT 2

(1) FISTh TP AT

(2) TP HEARAHYL:

(3) Towrem TP o= W

(4) S TP HEIRA
Options:-

«1, Option ID :- 3713,
» 2, Option ID :- 3714,
» 3, Option ID :- 3715,

» 4, Option ID :- 3716,
Answer Given:- 2, Option ID : -3714
Correct Answer :- 1 Option ID :- 3713

Question ID:- 930




FrenfeTiiad Terst ufemT UeAr fashearaehimed: THI=Tgad (e -

sife smmvd FdfaeRl Am SRl | qHeee ¥4 Sentaata - ged wAaregarE i
TEIS TR HAg e AR Ao 9wl ' @5k 9o gfasian—" 71 gfguaraes mu
Tfraery || SR | g HYIdeshad T e JorEEE - ed | gfeyad #5% )
A~ e 2 FHd: HHEME: 2" WISAGH- STeh] STH | Hoaaanais: qgfiiHicrean saeaehe gefid: |
FfgT TSNy | g, qeERaREgsTite e gawEetE e | a6 s T
TEATI: UsT: Hed Faumyata | w1 a1ft, faftad @ arone 7q - 4 gve: i gen:
at: gve: wafRefd | gve g fageen | wifecnsly qvew mew wiqueafa | o: gd: Ty
fAfead FgsarearERataafadfasia | qae aueaen 7 fauafa qen fen SeErrd gdq |
FFECAr Afed: | FalsT T TRE: HOfaesh: Seac saerg fe: | qasd gfammemay
- ‘g@ e femg fagem ? ug fofadiss ol soge g’ gmer feseiha-'ga ! we
JBhEeE FaldS | FHEI 9y =R Yo Fase IRy g8 | 76l qevy
s sy wferd: | o1a: ey - forwamdr S wden amg agst w1

‘que: gnfed e wal:' 3fd HA I ?

(1) A RETYfUEd
(2) femoperdon

(3) #HIT

(4) hifeH
Options:-

»1, Option ID :- 3717,
« 2, Option ID :- 3718,
» 3, Option ID :- 3719,

» 4, Option ID :- 3720,
Answer Given:- 3, Option ID : -3719
Correct Answer :- 3 Option ID :- 3719

Subject : Sanskrit_Q129-135_L2_P2_CTET

Question ID:- 931




Frenferfiad et ufsmn Uer fasheateehimved: a1 (e -

A AR e ve TerTehIgen: | T HIe Segfa TR TET A STaHl
Ty: wfdadfd | 9 FA TEieETg dgaranfa: i @ikt agge <gfd | o stafd )
319 FEITaRHHUE HISR: eeTasnrAiag Tond: | qosamr gyl qiEeTeEsh i : Fieed:
F: | gl SRGTCHIRTY - ThISTHTAN 2" | refahv Jywereiert Heamme-" g, gdisfa’ |
el o fa=fiay ad - wa qreed sided A1ag YaEArIan i, Ufe ayel shifeed e gid:
THTT e o= aedifad e i |

AYAE HYM genfaqaad: | quYl vfaded TEdad | refgearEHrarEd e Tesiii |
TGS 3 | @i | Jeisaeg- a2 1 Eisae- weisEs | 17 g grHuE |
Al dg=es g g’ | g sagd—" gEdi dreeEg Y | a0l J2E GeAwe] g<ed: | foh e e
B Fg1 ToAd ? aRR Ui shived aed g 7oA weid 1

Tyt gd-' gfe, feudurarsfa 2’ isagq-' srews g Fevard fRifaeei geErh
AFEETETHTE TSI | 7 e favarasy ;| =i afson. we wee won gegat | ordl vas
foemerag s o AgfHerT: | YeaTaaGen SEE TR SR | TR Uy aH: afe =
qred Y= o stfu-sifafersto war afe a% 10 gerr i) 2o gamn Fafad afe
FHTAE| Tl T8 & Al S| A9Ee |

TS YN favars FHsieedEaed die: |

et fey Ty ufkreeER TSR ShIeTHTHIA W EIafd | ATt et &: v o e s s
TSI TR | e ISt 1ol e s weltd: | yeamrarfiad) Frevafams mhe
yraeETERif W | SR @ 3 ST SRR e afear: ' 3t wd: sfafufHfae
YT STIfE: |

‘ATEGE WA AEEHIHARTHR | 3fd T e |y ?

(1) SREEH

(2) SEHH

(3) WTEEE

(4) v
Options:-

»1, Option ID :- 3721,
» 2, Option ID :- 3722,
» 3, Option ID :- 3723,

« 4, Option ID :- 3724,
Answer Given:- 4, Option ID : -3724
Correct Answer :- 4 Option ID :- 3724

Question ID:- 932




Frenferfiad et ufsmn Uer fasheateehimved: a1 (e -

A AR e ve TerTehIgen: | T HIe Segfa TR TET A STaHl
Ty: wfdadfd | 9 FA TEieETg dgaranfa: i @ikt agge <gfd | o stafd )
319 FEITaRHHUE HISR: eeTasnrAiag Tond: | qosamr gyl qiEeTeEsh i : Fieed:
F: | gl SRGTCHIRTY - ThISTHTAN 2" | refahv Jywereiert Heamme-" g, gdisfa’ |
el o fa=fiay ad - wa qreed sided A1ag YaEArIan i, Ufe ayel shifeed e gid:
THTT e o= aedifad e i |

AYAE HYM genfaqaad: | quYl vfaded TEdad | refgearEHrarEd e Tesiii |
TGS 3 | @i | Jeisaeg- a2 1 Eisae- weisEs | 17 g grHuE |
Al dg=es g g’ | g sagd—" gEdi dreeEg Y | a0l J2E GeAwe] g<ed: | foh e e
B Fg1 ToAd ? aRR Ui shived aed g 7oA weid 1

Tyt gd-' gfe, feudurarsfa 2’ isagq-' srews g Fevard fRifaeei geErh
AFEETETHTE TSI | 7 e favarasy ;| =i afson. we wee won gegat | ordl vas
formemigs s o gigfierma: | Yemvseen gHa THmiafy sy | Taeng uw g afg ae
qred Y= o stfu-sifafersto war afe a% 10 gerr i) 2o gamn Fafad afe
FHTAE| Tl T8 & Al S| A9Ee |

TE YN fovare SHTSiasehed Hied: |

et fey Ty ufkreeER TSR ShIeTHTHIA W EIafd | ATt et &: v o e s s
TSI s | el ISt HTet: g e wefif: | Tesrefafifae Freuafas aehet
yraeETERif W | SR @ 3 ST SRR e afear: ' 3t wd: sfafufHfae
YT STIfE: |

RN G AGE UG A E R Bt M R NCARE LD R

Options:-

«1, Option ID :- 3725,
» 2, Option ID :- 3726,
« 3, Option ID :- 3727,

« 4, Option ID :- 3728,
Answer Given:- 2, Option ID : -3726
Correct Answer :- 2 Option ID :- 3726

Question ID:- 933




Frenferfiad et ufsmn Uer fasheateehimved: a1 (e -

A AR e ve TerTehIgen: | T HIe Segfa TR TET A STaHl
Ty: wfdadfd | 9 FA TEieETg dgaranfa: i @ikt agge <gfd | o stafd )
319 FEITaRHHUE HISR: eeTasnrAiag Tond: | qosamr gyl qiEeTeEsh i : Fieed:
F: | gl SRGTCHIRTY - ThISTHTAN 2" | refahv Jywereiert Heamme-" g, gdisfa’ |
el o fa=fiay ad - wa qreed sided A1ag YaEArIan i, Ufe ayel shifeed e gid:
HHRTA a1 o aeifad el soiEm |

AYAE HYM genfaqaad: | quYl vfaded TEdad | refgearEHrarEd e Tesiii |
TGS 3 | @i | Jeisaeg- a2 1 Eisae- weisEs | 17 g grHuE |
Al dg=es g g’ | g sagd—" gEdi dreeEg Y | a0l J2E GeAwe] g<ed: | foh e e
B Fg1 ToAd ? aRR Ui shived aed g 7oA weid 1

Tyt gd-' gfe, feudurarsfa 2’ isagq-' srews g Fevard fRifaeei geErh
AFEETETHTE TSI | 7 e favarasy ;| =i afson. we wee won gegat | ordl vas
foemerag s o AgfHerT: | YeaTaaGen SEE TR SR | TR Uy aH: afe =
qred Y= o stfu-sifafersto war afe a% 10 gerr i) 2o gamn Fafad afe
FHTAE| Tl T8 & Al S| A9Ee |

TS YN favars FHsieedEaed die: |

et fey Ty ufkreeER TSR ShIeTHTHIA W EIafd | ATt et &: v o e s s
TSI TR | e ISt 1ol e s weltd: | yeamrarfiad) Frevafams mhe
yraeETERif W | SR @ 3 ST SRR e afear: ' 3t wd: sfafufHfae
YT STIfE: |

‘T wigaed agvEy’ s ‘ viferdess| i ved) froTed -

(1) 9+ =l ‘T G

(2) 9+ AT T

(3) Y+ FHHFAN ‘T’ THT:

(4) 9+ 9E T g

Options:-

»1, Option ID :- 3729,

» 2, Option ID :- 3730,

»« 3, Option ID :- 3731,

« 4, Option ID :- 3732,
Answer Given:- 3, Option ID : -3731
Correct Answer :- 4 Option ID :- 3732

Question ID:- 934




Frenferfiad et ufsmn Uer fasheateehimved: a1 (e -

A AR e ve TerTehIgen: | T HIe Segfa TR TET A STaHl
Ty: wfdadfd | 9 FA TEieETg dgaranfa: i @ikt agge <gfd | o stafd )
319 FEITaRHHUE HISR: eeTasnrAiag Tond: | qosamr gyl qiEeTeEsh i : Fieed:
Fel: | gl STEGICeRT - TSIt 2" | skl Jymeeiis e g, edsfe’|
el o fa=fiay ad - wa qreed sided A1ag YaEArIan i, Ufe ayel shifeed e gid:
THTT e o= aedifad e i |

AYAE HYM genfaqaad: | quYl vfaded TEdad | refgearEHrarEd e Tesiii |
TS 314 | amiie | Jaisae- sead 2| | Hisaed- Aeseq | 1774 o - G |
Al dg=es g g’ | g sagd—" gEdi dreeEg Y | a0l J2E GeAwe] g<ed: | foh e e
B4 A5l [ ? AR Ui hived ol a5l godl Had

Tyt gd-' gfe, feudurarsfa 2’ isagq-' srews g Fevard fRifaeei geErh
AFEETETHTE TSI | 7 e favarasy ;| =i afson. we wee won gegat | ordl vas
formemigs s o gigfierma: | Yemvseen gHa THmiafy sy | Taeng uw g afg ae
qred Y= o stfu-sifafersto war afe a% 10 gerr i) 2o gamn Fafad afe
FHTAE| Tl T8 & Al S| A9Ee |

TE YN fovare SHTSiasehed Hied: |

et fey Ty ufkreeER TSR ShIeTHTHIA W EIafd | ATt et &: v o e s s
TSI s | el ISt HTet: g e wefif: | Tesrefafifae Freuafas aehet
yraeETERif W | SR @ 3 ST SRR e afear: ' 3t wd: sfafufHfae
YT STIfE: |

R R T ) s O X

()
(2) aferf:
(3) farEh
(4 =W
Options:-

«1, Option ID :- 3733,
» 2, Option ID :- 3734,
« 3, Option ID :- 3735,

« 4, Option ID :- 3736,
Answer Given:- 3, Option ID : -3735
Correct Answer :- 3 Option ID :- 3735

Question ID:- 935




srsiferfiad enyr ufewr Uyt fashearararae: THre-gw fed -

A RTRET Ty vea Teraehdas): | T HR SagfauER T Ad e T STEATHl
1Y: Sfaadfd | Y FEA TSIeTE TgaTaneT: e Eeriiehiafehagge S8 | aa Ssiafd |
319 FEEREHAT TSI gfaeasiag qn: | aasarE g1 ufeashan: dense:
Fel: | Tl STGeeRTe - ThISTHIAIC 2" | Seehvl Jyweeiisry Teme- g, Tsfe’|
TSR o fa=iay ad - 9o dreed Saed Areg WAEETTAH T, Afe qayel e e gid:
gorTal qe1 et aehfad @l wiofiam |

AYATE HHYE venfaguers: | qEy afaded qag | dafgeeHcaE g6y TEsiy |
TG & | wrfies | s a2 | Hisae- HeisEn 1 g g |
A wgaasfa T’ | el sagg- Wﬁwﬁqlaﬁmawm | o =i sfammm
B 51 T5Ad ? STBR Ui Hived T g = e |

Tyt gd-' gfe, fewdnrmaisfa 2’ disaga- srews g Fregard fFfaeei saEm
BRI | R favaraeym: | =fa ufkor: g gee qum vt | o6 yaed
formegs i o FafHerT: | Yareeeen FHa T e | TEeg u uH: afg o=
q19e hivad o sifu-sifafesto wura afe @ et g vl | @ gan sdfar At
FHTEE! TS T9 & TR B AaEe |

TH YN fovare gaTsieasahel Hid: |

el femy, ooy Ul FETHIT Weas GIRfd | ATt Sfaw o: SRl o erafa aedd
TSI FHRE | e wrsi: Wwaﬁ'qﬂ@ﬁ | qeaeafafafiaed fFregafess dahet
wIreERTEdi T | S @ - S SRS e Erear: ' 3fa w4 afafufHias
T SIS |

‘gAY EEE -3 | @miE= | e we e -

(1) HERE
(2) T
(3) MEHH
(4 TUEE
Options:-

«1, Option ID :- 3737,
» 2, Option ID :- 3738,
« 3, Option ID :- 3739,

« 4, Option ID :- 3740,
Answer Given:- 2, Option ID : -3738
Correct Answer :- 1 Option ID :- 3737

Question ID:- 936




Frenferfiad et ufsmn Uer fasheateehimved: a1 (e -

A AR e ve TerTehIgen: | T HIe Segfa TR TET A STaHl
Ty: wfdadfd | 9 FA TEieETg dgaranfa: i @ikt agge <gfd | o stafd )
319 FEITaRHHUE HISR: eeTasnrAiag Tond: | qosamr gyl qiEeTeEsh i : Fieed:
F: | gl SRGTCHIRTY - ThISTHTAN 2" | refahv Jywereiert Heamme-" g, gdisfa’ |
el o fa=fiay ad - wa qreed sided A1ag YaEArIan i, Ufe ayel shifeed e gid:
THTT e o= aedifad e i |

AYAE HYM genfaqaad: | quYl vfaded TEdad | refgearEHrarEd e Tesiii |
TGS 3 | @i | Jeisaeg- a2 1 Eisae- weisEs | 17 g grHuE |
Al dg=es g g’ | g sagd—" gEdi dreeEg Y | a0l J2E GeAwe] g<ed: | foh e e
B Fg1 ToAd ? aRR Ui shived aed g 7oA weid 1

Tyt gd-' gfe, feudurarsfa 2’ isagq-' srews g Fevard fRifaeei geErh
AFEETETHTE TSI | 7 e favarasy ;| =i afson. we wee won gegat | ordl vas
foemerag s o AgfHerT: | YeaTaaGen SEE TR SR | TR Uy aH: afe =
qred Y= o stfu-sifafersto war afe a% 10 gerr i) 2o gamn Fafad afe
FHTAE| Tl T8 & Al S| A9Ee |

TS YN favars FHsieedEaed die: |

et fey Ty ufkreeER TSR ShIeTHTHIA W EIafd | ATt et &: v o e s s
TSI TR | e ISt 1ol e s weltd: | yeamrarfiad) Frevafams mhe
yraeETERif W | SR @ 3 ST SRR e afear: ' 3t wd: sfafufHfae
YT STIfE: |

“Fremed: Fa: ' 7 L Fa: | 3l = R -

(1) &+ @ SIS
2 F+ = ey
(3) F+F uE

(4) F+ & FHFAN
Options:-

»1, Option ID :- 3741,
» 2, Option ID :- 3742,
»« 3, Option ID :- 3743,

« 4, Option ID :- 3744,
Answer Given:- 2, Option ID : -3742
Correct Answer :- 2 Option ID :- 3742

Question ID:- 937




srsiferfiad enyr ufewr Uyt fashearararae: THre-gw fed -

A RTRET Ty vea Teraehdas): | T HR SagfauER T Ad e T STEATHl
1Y: Sfaadfd | Y FEA TSIeTE TgaTaneT: e Eeriiehiafehagge S8 | aa Ssiafd |
319 FEEREHAT TSI gfaeasiag qn: | aasarE g1 ufeashan: dense:
Fel: | Tl STGeeRTe - ThISTHIAIC 2" | Seehvl Jyweeiisry Teme- g, Tsfe’|
TSR o fa=iay ad - 9o dreed Saed Areg WAEETTAH T, Afe qayel e e gid:
gorTal qe1 et aehfad @l wiofiam |

AYATE HHYE venfaguers: | qEy afaded qag | dafgeeHcaE g6y TEsiy |
TG & | wrfies | s a2 | Hisae- HeisEn 1 g g |
A wgaasfa T’ | el sagg- Wﬁwﬁqlaﬁmawm | o =i sfammm
B 51 T5Ad ? STBR Ui Hived T g = e |

Tyt gd-' gfe, fewdnrmaisfa 2’ disaga- srews g Fregard fFfaeei saEm
BRI | R favaraeym: | =fa ufkor: g gee qum vt | o6 yaed
formegs i o FafHerT: | Yareeeen FHa T e | TEeg u uH: afg o=
q19e hivad o sifu-sifafesto wura afe @ et g vl | @ gan sdfar At
FHTEE! TS T9 & TR B AaEe |

TH YN fovare gaTsieasahel Hid: |

el femy, ooy Ul FETHIT Weas GIRfd | ATt Sfaw o: SRl o erafa aedd
TSI FHRE | e wrsi: Wwaﬁ'qﬂ@ﬁ | qeaeafafafiaed fFregafess dahet
wIreERTEdi T | S @ - S SRS e Erear: ' 3fa w4 afafufHias
T SIS |

(1) g+ 3% + a9 TEIEH
(2) g+ TF+ T + T ST,
(3) g+ F+ A EEH

(4 g+ TF + A ST
Options:-

«1, Option ID :- 3745,
» 2, Option ID :- 3746,
« 3, Option ID :- 3747,

« 4, Option ID :- 3748,
Answer Given:- 3, Option ID : -3747
Correct Answer :- 4 Option ID :- 3748

Subject : Sanskrit_Q136-150_L2_P2_CTET

Question ID:- 938




IRy SgTTIORTON YR Ayl SYERT: SHEEAEIY 0iid: 39 Yoddh 87: -
(1) SRR =

(2) fafswn: am: sAfEr=sg

(3) HHfewd wiFTE e

(4) fafaua sfysres FAiq

s

Options:-

«1, Option ID :- 3749,
» 2, Option ID :- 3750,
» 3, Option ID :- 3751,

» 4, Option ID :- 3752,
Answer Given:- 1, Option ID : -3749
Correct Answer :- 3 Option ID :- 3751

Question ID:- 939

SHERGY hH: YSAE HaAeeRgIgeRilsia 7

(1) 9 Hehari fagewaTaEenaE (Decoding Symbols) |
(2) YA TSIIEHS VG RO |

(3) U3 UISATETRSH A |

(4) U UISTYEAHES FAl SO HfE |

=

Options:-

»1, Option ID :- 3753,
» 2, Option ID :- 3754,
« 3, Option ID :- 3755,

« 4, Option ID :- 3756,
Answer Given:- 1, Option ID : -3753
Correct Answer :- 3 Option ID :- 3755

Question ID:- 940

AUISTETrY a1 sdREaaTE foren e ?

(1) forgwghEmE:
(2)  sHHETEIE
(3) THIA-USTH
(4) HIA-315AFY
Options:-

«1, Option ID :- 3757,
» 2, Option ID :- 3758,
» 3, Option ID :- 3759,

« 4, Option ID :- 3760,
Answer Given:- 1, Option ID : -3757
Correct Answer :- 3 Option ID :- 3759

Question ID:- 941




HogCedd oiE@ehy: TETaehHa, Fais -

(1) =© TR HerEgfia

(2 =

(3) 38 U AfarrEEafHi HemEmfE
(4) g€ FEHAHEA (Proof Reading) HEHHHIE
Options:-

«1, Option ID :- 3761,

» 2, Option ID :- 3762,

» 3, Option ID :- 3763,

» 4, Option ID :- 3764,
Answer Given:- 2, Option ID : -3762
Correct Answer :- 2 Option ID :- 3762

Question ID:- 942

erEufsRarEl fore wrfeemaey-fraRom gerafeem ggfay wfag oreifd |

(1) HHE

(2) TR

(3) yEHeET

(4) ARSI
Options:-

»1, Option ID :- 3765,
»« 2, Option ID :- 3766,
« 3, Option ID :- 3767,

« 4, Option ID :- 3768,
Answer Given:- 2, Option ID : -3766
Correct Answer :- 3 Option ID :- 3767

Question ID:- 943

W] Y-SR & SN Steed aeneiaffierd=m war wfd, a9 = aF asaym a5
Tt | 9 foy wE Ul -

(1)  HEEUIHE: SYMH
(2) HIEATHS: IIATH
(3) %A VivFISay
(4) STHRTTTATHT
Options:-

.1, Option ID :- 3769,
« 2, Option ID :- 3770,
« 3, Option ID :- 3771,

» 4, Option ID :- 3772,
Answer Given:- 1, Option ID : -3769
Correct Answer :- 1 Option ID :- 3769




Question ID:- 944

3% T I T 2751 [S=RAeRR <@t | 2 - 99 SaRafEser aq o £ qeames, 9
d frufafa | e€ umafemofa -

Options:-

«1, Option ID :- 3773,
» 2, Option ID :- 3774,
» 3, Option ID :- 3775,

» 4, Option ID :- 3776,
Answer Given:- 3, Option ID : -3775
Correct Answer :- 4 Option ID :- 3776

Question ID:- 945

e Syetuen fergafaf ama yramiy qeeds sTaesfa A9 YA S SR, ATFded |
1 oA FHgFafTHieRT Je e ?

(1) fers
(2) =R
(3) =
(4)
Options:-

«1, Option ID :- 3777,
« 2, Option ID :- 3778,
« 3, Option ID :- 3779,

» 4, Option ID :- 3780,
Answer Given:- 4, Option ID : -3780
Correct Answer :- 3 Option ID :- 3779

Question ID:- 946

SR e THeh— e ferdean Afe -
(1) gTH, F5Y, HTFAE 9

(2) EHACH-IHRTH

(3) ISKEAFA-IHNH

(4) TS (Telegraphic speech )

e

Options:-

«1, Option ID :- 3781,
»« 2, Option ID :- 3782,
»« 3, Option ID :- 3783,




» 4, Option ID :- 3784,
Answer Given:- 1, Option ID : -3781
Correct Answer :- 1 Option ID :- 3781

Question ID:- 947

FE MRIRERYE], TadigH], e = F% 3CgN ?

(1) HhHae

(2) STTeEEREITIE

(3)  VfeEREETURE

(4)  HFHETHIESHA YRTUR
Options:-

«1, Option ID :- 3785,
»« 2, Option ID :- 3786,
« 3, Option ID :- 3787,

» 4, Option ID :- 3788,
Answer Given:- 3, Option ID : -3787
Correct Answer :- 2 Option ID :- 3786

Question ID:- 948

[t sy frerirelgT af | U eI e sl AR ST = " A | T s
o AT Fd 2

(1) SRS

(2) I

(3) e

(4) ok
Options:-

«1, Option ID :- 3789,
« 2, Option ID :- 3790,
« 3, Option ID :- 3791,

« 4, Option ID :- 3792,
Answer Given:- 2, Option ID : -3790
Correct Answer :- 2 Option ID :- 3790

Question ID:- 949

TR SEATRT SHEM FHAM IJd F7HY U], 1 99 T =3 2aifa Hidufd =, s fesmfass
Teramfafwm g | T = ggfaefs ?

(1) Heufe "& A= T
(2) HHE 3w fman
(3) eI Giaue P |
(4) uRERET R |
Options:-

«1, Option ID :- 3793,




« 2, Option ID :- 3794,
» 3, Option ID :- 3795,

» 4, Option ID :- 3796,
Answer Given:- 2, Option ID : -3794
Correct Answer :- 1 Option ID :- 3793

Question ID:- 950
@Ta®ear, (Dysgraphia), SERTH-STERFa1 e Iyt —
1)  STpEEHH HAH IS TR eITEAfd

(

(2) Tifay wE=Ey =

(3) T YEATETHA =
(4) g

Options:-

»1, Option ID :- 3797,
» 2, Option ID :- 3798,
« 3, Option ID :- 3799,

« 4, Option ID :- 3800,
Answer Given:- 1, Option ID : -3797
Correct Answer :- 3 Option ID :- 3799

Question ID:- 951
YiRATeET-SUnTH eRaTed faramer Hemaguiy &1fd | F6ife -
(1) YrEY Y™ Feweyen gafaf |

(2) HHEA HEEHATE |

(3) TergEgafa)

(4) YICIE HEEREE |
Options:-

«1, Option ID :- 3801,
» 2, Option ID :- 3802,
« 3, Option ID :- 3803,

» 4, Option ID :- 3804,
Answer Given:- 1, Option ID : -3801
Correct Answer :- 3 Option ID :- 3803

Question ID:- 952

GreqTuTsh e, wrearn: et afmfear: af= -
(1) SHARIE, SATHH VEFe =

(2) fofea fafa.agr s=m

(3) O FEER G- HiEsaered
(4) YETEHY HRINUH

Options:-
«1, Option ID :- 3805,




» 2, Option ID :- 3806,
» 3, Option ID :- 3807,

» 4, Option ID :- 3808,
Answer Given:- 3, Option ID : -3807
Correct Answer :- 1 Option ID :- 3805
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